UGC NET 2021 Social Work

Topic:- SocialWork_SHAAN_NOV21A

1) The first school (Department) of social work of Independent India was established at

Fadoq HRA @ YA HATSl PRI fRrencrr (fpmer) & remuer g§ @er off ?
[Question ID = 1449][Question Description = S2_qSNz_PG_SWK_Q01]

1. Kashi Vidyapeeth/areft fremdis [Option ID = 5793]

2. Delhi School of Social work/feeeit ¥met sifw ot a@ [Option ID = 5794]

3. Tata Institute of Social Sciences/erer $3<iczIe sifw Moret st [Option ID = 5795]
4. Gujarat Vidyapeeth/spria faenmdis [Option ID = 5796]

Correct Answer :-
e Kashi Vidyapeeth/wmrsft faemdts [Option ID = 5793]

2) "Professional Social work, as it has evolved in India, is a graft on the ancient heritage and not an independent
transplant...It has undoubtedly adopted and adapted a lot from other countries but it has a soul and body of its own". This
statement was made by

A 9 8l Surer ¥dimd qen 3pliad fpr 3 cifdbol AWM U6 Udh 9RIR 3R Uil U 3mcar s 3
I8 DU [BAD FRI Ydifad v sri ar ?

[Question ID = 1450][Question Description = S2_qSNz_PG_SWK_QO02]
1. Sugata Das Gupta/3JpIer o1 ajr

[Option ID = 5797]
2. A.R. Wadia/u. 3R. aif$n

[Option ID = 5798]
3. R.R. Singh/a=. 3=. Riz

[Option ID = 5799]
4. P.D. Kulkarni/dt. <t. gerepuff

[Option ID = 5800]

Correct Answer :-
e Sugata Das Gupta /I gri sfar

[Option ID = 5797]
3) The entire gamut of preventive, therapeutic and rehabilitative services to control deviance in general and crime in
particular in the society, is termed as

AAST A ATATG U A ferrerol iz {9y 3wy A sruRrer ol Grifea wor @ fere rare, Suarcad iz gorala Aarsil & Aegul SRR oI a1 dal
SIrer 3 ?

[Question ID = 1451][Question Description = S2_qSNz_PG_SWK_QO03]

1. Social Policy/zmenfSian ofifer [Option ID = 5801]

2. Social Defence/mmfsia 281 [Option ID = 5802]

3. Social Welfare/zmenfSias weamor [Option ID = 5803]
4. Social Security/zmnfSs Jrer [Option ID = 5804]

Correct Answer :-
e Social Policy/zmmfsia ofifer [Option ID = 5801]

4) Communication is a where at least two interacting agents share a common set of sighs and a common set of
semiotic rules.

IAFYHUT D 3, SI6f D A DA <l Holod DPR® ARG RIGl D e del ATHIGRI IHdd Jsiiford formEHl B AT DAt &

[Question ID = 1452][Question Description = S2_qSNz_PG_SWK_Q04]
1. Gesture/#gr / sifSrer

[Option ID = 5805]
2. Social interaction/menfSid sieeilcRIfegRn

[Option ID = 5806]
3. Social cohesion/mfSin Fiistor



[Option ID = 5807]
4. Exchange of ideas/far - fafowrr

[Option ID = 5808]
Correct Answer :-
e Gesture/ggr / sifdmam
[Option ID = 5805]

5) Who propounded the 'Evolutionary theory’ of social change?

AEnfors uf¥ade @ 'faeriaKt Rigia’ o yfearge s fosem 8 ?
[Question ID = 1453][Question Description = S2_qSNz_PG_SWK_QO05]

Sorokin/2iRfdser [Option ID = 5809]
Spencer /3t [Option ID = 5810]
Dahrendorf/33¥siw [Option ID = 5811]
Durkheim/gxdfer [Option ID = 5812]

A w N =

Correct Answer :-
e Sorokin/2iRfdser [Option ID = 5809]

6) The term 'false consciousness' was used by

"1 srocadenr uc pad GrRI ygop fopen sk & ?
[Question ID = 1454][Question Description = S2_qSNz_PG_SWK_QO06]

. Nimkoff/forwaiuw [Option ID = 5813]

. Karl Marx /et sira=t [Option ID = 5814]
. Max Weber /da=1 =z [Option ID = 5815]
. Merton/#det [Option ID = 5816]

A W N -

Correct Answer :-
o Nimkoff/fwasiuw [Option ID = 5813]

7) Who is the author of Principles of Social Case Recording published in 1946?

1946 3 yo1idra 'TtR1uc siie Alerar o frmifSsT @1 crad dla 8 ?

[Question ID = 1455][Question Description = S2_qSNz_PG_SWK_QO07]
1. Gordon Hamilton/siEet fdtecat [Option ID = 5817]

2. Perlman/uctdier [Option ID = 5818]

3. R.R. Shastri/am. am. emcft [Option ID = 5819]

4. Biestek/ars3ea [Option ID = 5820]

Correct Answer :-

e Gordon Hamilton/siSet 3fdrecat [Option ID = 5817]

8) Children learn to add new words through a process called:

e U iR @ HIERIA A oRI 916] bl Siisell HRad &, Sil el 3 :
[Question ID = 1456][Question Description = S2_qSNz_PG_SWK_Q08]

Fast mapping/diq - Riqur [Option ID = 5821]
New mapping/aia - ferqur [Option ID = 5822]
Extensions/fdzar [Option ID = 5823]
Inspiration/gzum [Option ID = 5824]

A W N -

Correct Answer :-

e Fast mapping/diq - Riqur [Option ID = 5821]

9) According to Bartlett, is "the interaction between the coping activity of people and the demand from the
environment”.

drécic @ IIGRIR "clidll bl FARNSI fopR iz arararer @ Jier @ i sia:fgan 3"
[Question ID = 1457][Question Description = S2_qSNz_PG_SWK_QO09]

Social functioning/mnfsis wrfazor [Option ID = 5825]
Social adjustment/zmenfSias @RS [Option 1D = 5826]
Social endurance/ s Fsatrfcs [Option ID = 5827]
Social cohesion/amfSies Jreeiar [Option ID = 5828]

A W N -



Correct Answer :-
e Social functioning/mmfSis @wricor [Option ID = 5825]

10) A group work model which is based on Erikson's ego psychology is called as

sh¥artel @ 316d Hollfdsiel UR snenfy¥a e PRI gy a1 oselidr 3 ?
[Question ID = 1458][Question Description = S2_qSNz_PG_SWK_Q10]

Remedial model/3uaricaas aiser [Option ID = 5829]
Reciprocal model/urzuf3e siser [Option ID = 5830]
. Developmental model/fa@mrircns #iser [Option ID = 5831]
. Social goals model/zmoiSio 389w difser [Option ID = 5832]

A wWw N -

Correct Answer :-
e Remedial model/3uari® sifser [Option ID = 5829]

11) In case of group work intervention strategy, the social group worker aids the clients in learning how they present

themselves from maturing through

AR BRI sedasu Whfer & A 3 Aenie e PrRieAal suo JailRfRl 6l e fiwa i TR o 3 5 a @D ATEAA A IR

@I ufsuad A B2 ADd &

[Question ID = 1459][Question Description = S2_qSNz_PG_SWK_Q11]
. Gestalt therapy/seree a3t [Option ID = 5833]

. Transactional analysis/zicasrR feecswor [Option ID = 5834]

. Behaviour model/=m@sR #isc [Option ID = 5835]
Facilitative intervention/Jjfencae szagm [Option ID = 5836]

A WN -

Correct Answer :-
e Gestalt therapy/areree &4l [Option ID = 5833]

12) Who among the following has coined the term 'group dynamics'?
'3JU SRIGIIGRA 91c I gferarce feprol fopem 3 ?

[Quest1on ID = 1460][Question Description = S2_qSNz_PG_SWK_Q12]

Wilhelm Wundt/fiega gse [Option ID = 5837]

. Emile Durkheim/ssmset gdfor [Option ID = 5838]
William Mc Dougall/faferm diastsrer [Option ID = 5839]
. Kurt Lewin/@¢ afder [Option ID = 5840]

AWN—\

Correct Answer :-
o Wilhelm Wundt/faeaa gse [Option ID = 5837]

13) The book Community Work and Social Work is credited to

'DFIfoIél ad5 Us A 9a> YIAd DI oD Diol 8 7

[Question ID = 1461][Question Description = S2_qSNz_PG_SWK_Q13]
Peter Baldock/dlez aresias [Option ID = 5841]

Gulbenkian Foundation/serfereior wusemet [Option ID = 5842]

. Paulo Freire/umell ws3[Option ID = 5843]

. Mary Richmond/di$t f¥aews [Option ID = 5844]

A w N =

Correct Answer :-
e Peter Baldock/dlez arcsias [Option ID = 5841]

14) Major approaches to Community Development are:

ARICIRIPG fAPRI & Y 3uPHI 3 -

[Question ID = 1462][Question Description = S2_qSNz_PG_SWK_Q14]

External agent, multiple agent and inner resource approach/ e ®R®, dgPRD 3R slidR® AWMl 3use [Option ID = 5845]

External agent, multiple agent and process objective approach/drer ®rR®, dgbRe® 3l yfigar 3892 3uee [Option ID = 5846]

Specific content, general content and process objective approach/fdfsre fiwrrazq, Aeme [AwrRaq iR yfdgan 389 3uset [Option ID = 5847]
Specific content, general content and inner resources approach/fafére frwrrazq, e frmaeq &ii sial¥e mest suser [Option ID = 5848]

A W N -

Correct Answer :-
e External agent, multiple agent and inner resource approach/arar ®R®, dgbR® 3iR sidf¥e WM 3uset [Option ID = 5845]

15) Social action is not only a method of social work but an overriding philosophy behind it. This statement is credited to



"ArfSie fgpn ARNRIe orl & dac ve fafér 3t ol 3 afce sermr sifdmrd cofer 3l 3 " a6 Pl fopaamT 37
[Question ID = 1463][Question Description = S2_qSNz_PG_SWK_Q15]

1. A.S. Desai/u. v s [Option ID = 5849]

2. P.D. Kulkarni/dtg}. gerapvff [Option ID = 5850]
3. H.Y. Siddiqui/wa. ar. faifz<bt [Option ID = 5851]
4. R.R. Singh/sm.3m. B [Option ID = 5852]

Correct Answer :-
® A.S. Desai/u. wa &g [Option ID = 5849]

16) "l have a dream”. Who among the following said so?

"3i1s 3a € Sar” - Az PraferRBaa A A fver war o ?
[Question ID = 1464][Question Description = S2_qSNz_PG_SWK_Q16]

. Mahatma Gandhi/#erean stieft [Option ID = 5853]

. Martin Luther King Jr. /snfer cjer fopst Siforrz [Option ID = 5854]
. Martin Luther King/#ufdat cjer fapsr [Option ID = 5855]

. Malcolm X/diereptar uart [Option ID = 5856]

A WN =

Correct Answer :-

® Mahatma Gandhi/ssrean stieft [Option ID = 5853]
17) Content analysis is a method of:
fererrarq faecsuur forarferRaa 3 A el fafr 3 ?

[Question ID = 1465][Question Description = S2_qSNz_PG_SWK_Q17]
1. Survey design/demr sifdrseu [Option ID = 5857]

2. Experimental research /g soRiemst [Option ID = 5858]

3. Data analysis/3m@st @1 faecsuur [Option ID = 5859]

4. Data collection/sifast @t sggur [Option ID = 5860]

Correct Answer :-
e Survey design/dgmr aifdioeu [Option ID = 5857]

18) Who has given the formula for calculating Rank Correlation?

forgsifer3ae 3 3 fpaal e Aser DI S1vTell Dol D fere gy o= ar ?
[Question ID = 1466][Question Description = S2_qSNz_PG_SWK_Q18]

Spearman/drRder [Option ID = 5861]
Pearson/dkrisr [Option ID = 5862]
Yules/ze=1 [Option ID = 5863]
Garrett/33c [Option ID = 5864]

A WN -

Correct Answer :-
® Spearman/dRdst [Option ID = 5861]

19) is a specialized average designed to measure the change in a group of related variables over a period of time.

uop fadrdiapa siieaa & Sit fpeil sraf?r @ dizrel AdiR =Rl e 3 ul¥dadel I AU Mol D fere ARIR v srar 8
[Question ID = 1467][Question Description = S2_qSNz_PG_SWK_Q19]

Mean/#emarer [Option ID = 5865]
Median/auférmr [Option ID = 5866]
Mode/agciw [Option ID = 5867]

Index number/3aaie [Option ID = 5868]

AW N =

Correct Answer :-
® Mean/aem@e [Option ID = 5865]

20) An idea about a given state of affairs put forward in exact terms to provide a basis for empirical testing is known as

fop2fl €1 o =N @ ar 3 R, i sopifde ufgnr & fore snaR ygeret w2l @ fore yzdda fopwn s 3, DBl 3

[Question ID = 1468][Question Description = S2_qSNz_PG_SWK_Q20]



Ideal type/sicof firarz [Option ID = 5869]

Hypothesis/uf¥aeusn [Option ID = 5870]

Sociological imagination/mmstomdia weuen [Option ID = 5871]
Empirical Research/smgsifaes seRiemet [Option ID = 5872]

A W N -

Correct Answer :-
e |deal type/smsef far [Option ID = 5869]

21) A group consisting of people with formally assigned roles who work together to achieve the organisation's goals, is called

U A Sil Uiy U A ORI YT darcl <l A J6ll 31T & a2l d 3160l Pl cIgAd dI YIffy 3q D 3, DECIdl &

[Question ID = 1469][Question Description = S2_qSNz_PG_SWK_Q21]

1. Organisation/3stoor [Option ID = 5873]

2. Line Organisation/esat 2b1sat [Option ID = 5874]

3. Flat Organisation/ucie Jstoar [Option ID = 5875]

4. Learning Organisation/siwirstor Jstoer [Option ID = 5876]

Correct Answer :-
e Organisation/3isisar [Option ID = 5873]

22) A non-profit company can be registered with the Companies Act, 2013 under

fep2il Ste-cmerprl wusll @I @yt sif2iforme, 2013 & b a1 & siasia usfiga fesan s 1mar 8 ?

[Question ID = 1470][Question Description = S2_qSNz_PG_SWK_Q22]
1. Section 4/emr 4 [Option ID = 5877]

2. Section 8/arr 8 [Option ID = 5878]

3. Section 25/emx 25 [Option ID = 5879]

4. Section 112/arr 112 [Option ID = 5880]

Correct Answer :-
® Section 4/emr 4 [Option ID = 5877]

23) The Section 8 of the Foreign Contribution (Regulation) Amendment Act, 2020 in its sub-section(1) has substituted the
words ‘fifty per cent’ by

faSor APl (faformer) JHolieror ®iolet, 2020 i 84l em=1 I IuerRI (1) of "UARI Yfaord' 956c oI _____ FUTellUcodl fpAT 3R &

[Question ID = 1471][Question Description = S2_qSNz_PG_SWK_Q23]
1. Thirty per cent/dh1 yferora

[Option ID = 5881]
2. Twenty five per cent/ucdl yferora

[Option ID = 5882]
3. Twenty per cent/d1 yferora

[Option ID = 5883]
4. Sixty per cent/c yfeora

[Option ID = 5884]
Correct Answer :-
e Thirty per cent/« yferora
[Option ID = 5881]

24) The concept of Radical social work was given by

M3da AMora aas’ b sraemrvn feads grr & sril ef?
[Question ID = 1472][Question Description = S2_qSNz_PG_SWK_Q24]

1. Roy Bailey and Mike Brake/3fr dcl wus sirsas g [Option ID = 5885]
2. Mike Ferguson/#mse® wofter [Option ID = 5886]

3. H.Y. Siddiqui/wa. at$. Rifgdt [Option ID = 5887]

4. Kim and Zurlo/fpa wus geit [Option ID = 5888]

Correct Answer :-
e Roy Bailey and Mike Brake/3f ¢t uus ss® qa@ [Option ID = 5885]

25) The concept of 'cultural lag' was given by

Firpfie Resud’ & siaarun o1 Read grI yferafea o e ?



[Question ID = 1473][Question Description = S2_qSNz_PG_SWK_Q25]

1. Ogburn/3sifsrast [Option ID = 5889]

2. Karl Marx /et sirat [Option ID = 5890]

3. J. Frazer/st ws=[Option ID = 5891]

4. Taylor.F.W/&er vw. secz], [Option ID = 5892]

Correct Answer :-
® Ogburn/sifsrast [Option ID = 5889]

26) Goal 5 of Sustainable Development Goals (SDGs) is focused upon

Idd fadrRT c1ga &b aga Fen 5 5 ur qa 3di 37
[Question ID = 1474][Question Description = S2_qSNz_PG_SWK_Q26]

1. Quality education/spmees forgm [Option ID = 5893]

2. Reduced inequality/srirotar 3 @waft [Option ID = 5894]

3. Gender equality/¢if3rs 3mmerar [Option ID = 5895]

4. Clean water and sanitation/¥a<s Siet vd ¥acear [Option ID = 5896]

Correct Answer :-
e Quality education/spmees fdrem [Option ID = 5893]

27) 'Housing first' model is associated with

‘sIel¥ieT B Arscl AFdfoerd 3 -
[Question ID = 1475][Question Description = S2_qSNz_PG_SWK_Q27]

1. School children/za¢ft a=ai 3 [Option ID = 5897]

2. Homeless persons/dR el 31 [Option ID = 5898]

3. Hospitals/sruarci 31 [Option ID = 5899]

4. Construction workers/fomiiur arsiczi 3 [Option ID = 5900]

Correct Answer :-
e School children/zaeft sr=dt 31 [Option ID = 5897]

28) National Food Security Act (NFSA), 2013 has included setting up of effective grievance redressal mechanism for
strengthening of

IAER e Jeh ifeforA (vel.uw.wae.), 2013 3 @ A9IfepdvT 3q grdl fOrpRIa en= &I Femuen o Afdafera foven 3

[Question ID = 1476][Question Description = S2_qSNz_PG_SWK_Q28]
1. Total public-private system/#quf Jdsiform-forsft gomeft

[Option ID = 5901]
2. Public distribution system agency/irdsifore faa=ur yureft sifdrpzor

[Option ID = 5902]
3. Targeted public distribution system/cféia 2ndsifore faazur gumeft

[Option ID = 5903]
4. People system of network/clisli @ olcad &t gumett

[Option ID = 5904]
Correct Answer :-
e Total public-private system/3ryut Jrdsiform-forsft gomeft

[Option ID = 5901]

29) When did the Ministry of Health and Family Welfare launch the 'National Health Mission'?
AR Ud URAR DeRAVT HGIcRI GRI ASERI FARe {39161 b ad 3 smeas1 o= sk en?

[Question ID = 1477][Question Description = S2_qSNz_PG_SWK_Q29]
1. 2005

[Option ID = 5905]
2. 2007

[Option ID = 5906]
3. 2013

[Option ID = 5907]
4. 2015

[Option ID = 5908]



Correct Answer :-
e 2005
[Option ID = 5905]

30) UNHCR has its headquarters in

¥ UoL. L3R, BT FIRIICRI #3

[Question ID = 1478][Question Description = S2_qSNz_PG_SWK_Q30]
1. Hague/3st
[Option ID = 5909]
2. Geneva/Solar
[Option ID = 5910]
3. New york/o=pif®
[Option ID = 5911]
4. Turin/<gfest
[Option ID = 5912]

Correct Answer :-
e Hague/3st
[Option ID = 5909]
31) What was the original name of the Ministry of Social Justice and Empowerment at the centre when it was established in
1960?
Dol ATHIRIS IRI MR 3ferepIfear qIcrr w1 JeT oIE 33 A @ o1 Sid 1960 3 s3rbt Temuetr g5 off ?

[Question ID = 1479][Question Description = S2_qSNz_PG_SWK_Q31]
. Ministry of Social Welfare/3mnfSies ase=nur digrerr [Option ID = 5913]

. Ministry of Social Security /s Jen #igierr [Option 1D = 5914]

. Ministry of Women and Child Welfare/siféet siiz aret @eemvt sigierr [Option ID = 5915]
. Ministry of Human Resources /e 2iirerel sicgert [Option ID = 5916]

A w N =

Correct Answer :-
® Ministry of Social Welfare/amnf3ies ase=mr digierr [Option ID = 5913]

32) Economic, Social & Cultural rights were the focus of

e, AR 3R ARG fter _ DDA ?

[Question ID = 1480][Question Description = S2_qSNz_PG_SWK_Q32]
1. 1Ind generation of Human Rights /g3 dict @ roraferont

[Option ID = 5917]
2. Istgeneration of Human Rights/uacft dict & srorarferasit

[Option ID = 5918]
3. IVthgeneration of Human Rights/dieft dic & soraifimRt

[Option ID = 5919]
4. 1llrd generation of Human Rights/drst didl & srerarferoRi

[Option ID = 5920]

Correct Answer :-

e 11" generation of Human Rights/ggist Wit & amorarfarmt
[Option ID = 5917]

33) Which among the following are the specific Articles of the Indian Constitution providing for the promotion of people's
welfare within the overall framework of Social Justice?

HRA @ Afdenel & fororiciiaa 3 A fdvol sofcadsl d ATMIID IR D AHASY Gl D HiAR Slel PCAVT DI IGMEI Sol D YIferel & ?
[Question ID = 1481][Question Description = S2_qSNz_PG_SWK_Q33]

1. Article 19 and 24/sigcss 19 sii 24 [Option ID = 5921]
2. Article 38 and 46/3mcas 38 aiiz 46 [Option ID = 5922]
3. Article 40 and 45/smgiess 40 iz 45 [Option ID = 5923]
4. Article 39 and 332/3mgeas 39 iz 332 [Option ID = 5924]



Correct Answer :-
e Article 19 and 24/3mgeds 19 siiz 24 [Option ID = 5921]

34) Which is the first country in the world to make Corporate Social Responsibility as mandatory?

DRURC ARG cifica @t siforart dgeirel arcr faea @1 yesr 91 aiot AT 3 ?

[Question ID = 1482][Question Description = S2_qSNz_PG_SWK_Q34]
1. Brazil/gsiler [Option ID = 5925]

2. Japan/smurer [Option ID = 5926]

3. Sweden/¥dsar [Option ID = 5927]

4. India/emza [Option ID = 5928]

Correct Answer :-
e Brazil/gmfier [Option ID = 5925]

35) Social work involvement in the industrial sector can be at both levels.

3ienfre &g 3 Frst BRI oI I3[ ¥Rl & 31 ADar 3

[Question ID = 1483][Question Description = S2_qSNz_PG_SWK_Q35]
1. Formal and informal/sfiuai¥e 3ii2 soilualiza

[Option ID = 5929]
2. Macro and micro/gas 3i o

[Option ID = 5930]
3. Intramural and extramural/sidzifdifere sl yreflaomrer

[Option ID = 5931]
4. Voluntary and involuntary/3dfRe® 3l soifcad

[Option ID = 5932]
Correct Answer :-
e Formal and informal/siuenf¥es 3iie soiuaiiya

[Option ID = 5929]

36) ISO 9000 originated in:
sréwasl 9000 &t seufer wsf &8 ?

[Question ID = 1484][Question Description = S2_qSNz_PG_SWK_Q36]
1. U.K/ea. [Option ID = 5933]

2. U.S.A/geare. [Option ID = 5934]

3. India/sma [Option ID = 5935]

4. Germany/swiet [Option ID = 5936]

Correct Answer :-
e U.K/3gas. [Option ID = 5933]

37) Which among the following labour legislations have a provision for the appointment of Labour Welfare Officers?
A. Factories Act

B. Plantation Labour Act

C. Mines Act

Choose the correct answer from the options given below:

forgotferRaa 31 3 Plet A 9Jp1 fAereil 3 9T BT siferpIf¥il &I foryfes @1 gifaens & ?
A. orR¥en iftforpr

B. ot o sifeiforiar

C. et aiferforrar

ofid 3w o1 fwseal # A A8 IR BT <RIl BT :

[Question ID = 1485][Question Description = S2_qSNz_PG_SWK_Q37]
1. Aand B only/d@act A sz B

[Option ID = 5937]
2. Band C only/d@act B siiz C

[Option ID = 5938]



3. Aand Conly/aaa A siiz C

[Option ID = 5939]
4. A, Band C/A, Btz C

[Option ID = 5940]
Correct Answer :-
e AandConly/daeAsiz C
[Option ID = 5939]

38) Which among the following was the first major international conference on environmental issues organised by the UN in
19722

A ISA R 1972 3 ARSI uRiiarvr Aedfoerd forpidl U usell HIRT AddAciol fPreiferaa 3 A wlor am &AT?

[Question ID = 1486][Question Description = S2_qSNz_PG_SWK_Q38]
1. Rio Conference/f¥n wdctor

[Option ID = 5941]
2. Stockholm Conference/Icrmal Jedicior

[Option ID = 5942]
3. New York Summit /o foraz araf

[Option ID = 5943]
4. Los Angeles Conference/eIRI GosifeRl  3@3icTol

[Option ID = 5944]
Correct Answer :-
e Rio Conference/ =0 Jdictor
[Option ID = 5941]

39) Which among the following is NOT associated with National Services Scheme (NSS)?

fraotferRaa 3 o= acdRr Aar Aol A Feferd ordl 3 ?
[Question ID = 1487][Question Description = S2_qSNz_PG_SWK_Q39]

National Youth Awards/2mcr gar geear [Option ID = 5945]
National Youth Festival/3mcr gar 3#mRis [Option ID = 5946]
Republic Day Parade Camp/swrdd, f&a=1 uds forfaz [Option ID = 5947]
National Intergration Camp/2reckr edbiaur f8ifdr [Option ID = 5948]

A W N -

Correct Answer :-
e National Youth Awards/ ¢kt 3ar geear [Option ID = 5945]

40) Find the odd one:

goldl A fawar @ sifew ©

[Question ID = 1488][Question Description = S2_qSNz_PG_SWK_Q40]
1. Strike/ssamr

[Option ID = 5949]
2. Lockout/drermadt

[Option ID = 5950]
3. Lay off/omrEd!

[Option ID = 5951]
4. Retrenchment/scoft

[Option ID = 5952]

Correct Answer :-
® Strike/ssarct

[Option ID = 5949]

41) Which of the following are stages of acceptance?
A. Denial

B. Anger

C. Bargaining



Choose the correct answer from the options given below:

forgotifone 3 A ot Fdiopfer B srazend 3 ?

A. srdiofer

B. e

C. dia-dia

il 3w s1e fyaseul o A W& 3= goi ¢

[Question ID = 1489][Question Description = S2_qSNz_PG_SWK_Q41]

1. A, B and C/dact A, B aiiz C [Option ID = 5953]
2. A and B only/aaet A siiz B [Option ID = 5954]
3. Band C only/dact B sfiz C [Option ID = 5955]
4. Aand C only/a5aer A aiiz C [Option ID = 5956]

Correct Answer :-
e A, B and C/dada A, B 3iiz C [Option ID = 5953]

42) Which of the following are the measures of Central Tendency?
A. Mean

B. Median

C. Mode

Choose the correct answer from the options given below:

forgotferRaa 31 wiot Mt Boga ygfier o1 aas 3 ?

A. area

B. mfeard

C. sgaao

il f3u s1e fyaseul 9 A W& 3R goi ¢

[Question ID = 1490][Question Description = S2_qSNz_PG_SWK_Q42]

1. Aand B only/dact A siiz B [Option ID = 5957]
2. Band C only/dsaet B siiz C [Option ID = 5958]
3. Aand C only/d>act A siiz C [Option ID = 5959]
4. A, B and C/ddaa A, B siiz C [Option ID = 5960]

Correct Answer :-
® A and B only/daet A 3iiz B [Option ID = 5957]

43) Which of the following writings are credited to Frantz Fanon?
A. Wretched of the Earth

B. Black Skin, White Masks

C. Concerning Violence

D. Black Men

Choose the correct answer from the options given below:

forgaiferRaa 3 31 @lat 2l gzaml @ cRa® WISt Boldl & ?
A. s 3w & aref

B. stid Rapa1, carse ARDRY

C. woafofor arscizt

D. i Jiot

il fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 1491][Question Description = S2_qSNz_PG_SWK_Q43]
1. Aand B only/dact A siiz B

[Option ID = 5961]
2. A, Band Conly/dae A, B i C



[Option ID = 5962]
3. B, Cand D only/dae B, C sz D

[Option ID = 5963]
4. Aand D only/@aet A siiz D

[Option ID = 5964]

Correct Answer :-
e A and B only/dact A siiz B

[Option ID = 5961]

44) Two philosophical concepts that underpin almost all social work ethics, are
A. Deontology

B. Teleology

C. Principlism

D. Consequentialism

Choose the correct answer from the options given below:

I croffore sraemund Sit PP Asht AT BRI AR ofiferil @ smermR 3 ¢

A. @dxreme

B. 3garc

C. Rigoaarc

D. ufyvrerarg

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 1492][Question Description = S2_qSNz_PG_SWK_Q44]

A and B only/d@act A siiz B [Option ID = 5965]
A and C only/d@act A siiz C [Option ID = 5966]
B and C only/dsaet B siiz C [Option ID = 5967]
C and D only/aaet C siiz D [Option ID = 5968]

A W N -

Correct Answer :-
® A and B only/daet A siiz B [Option ID = 5965]

45) Which among the following is/are the foundation of 'Attitudes'?
A. Emotions

B. Dreams

C. Behaviour

D. Cognitions

Choose the correct answer from the options given below:

forgotferRaa 3 A wiar sifdrgfer o smeme 3 ?

A. sraen®

B. awr

C. =rasr

D. isier

ofla fou o1 fyaseul 3 31 & Fa= goi ¢

[Question ID = 1493][Question Description = S2_qSNz_PG_SWK_Q45]

A and C only/@ae A iz C [Option ID = 5969]
A and B only/dact A siiz B [Option ID = 5970]
A, B and C only/@aet A, B siiz C [Option ID = 5971]
A, C and D only/@saet A, C siiz D [Option ID = 5972]

A W N -

Correct Answer :-
e Aand C only/daet A siiz C [Option ID = 5969]

46) Which professional organisation of social work is/are currently not functional?

A. Indian Society of Professional Social Workers



B. India Association of Trained Social Workers
C. Association of Schools of Social work in India
D. National Association of Professional Social Workers in India

Choose the correct answer from the options given below:

aciaaret 3 TSI BRI B Blol A RIGARID HdTool BRI ol 3 ?

A. IR¥¥61 AR 3t Qiuserera Al9rer aad

B. 301 walgerel sifws s Fore aasd

C. vaAif¥ugret 3iie Faxc 3iie A9reT aas ol i3

D. ororeier TAIRTC9rG i Yiusorelcl AI9ICT a3 sol 331

ofia 3w a1 fwcal 3 A A& a2 ol :

[Question ID = 1494][Question Description = S2_qSNz_PG_SWK_Q46]

A only/a>aet A [Option ID = 5973]
B only/a@aet B [Option ID = 5974]
A and B only/dact A siiz B [Option ID = 5975]
B and C only/dqet B siiz C [Option ID = 5976]

AW N =

Correct Answer :-
® A only/dacr A [Option ID = 5973]

47) According to G.S. Ghurye, which are the features of the caste system the society is characterized by:
A. Segmental division of society

B. Civil and religious abilities

C. Hierarchy and restrictions on feeding and social intercourse

D. Choice of occupation and marriage

Choose the correct answer from the options given below:

SILo. g D IMGRIR AALSI Dl Blal Al RIduars sufer-Razen grt forsfta 8kt 3 ?
A. JI1S1 @1 WSRI fesisier

B. sipifyes wd enfdfos srdany

C. AP 3MICTel-YgTel Ud 6l Ulol UR USTofd Ud ATHIRID gferdoer

D. fiars vd SIaARI BT aRUT

il fou s1u fRrapeul 3 A & 3R BT a6l HIfSIE ©

[Question ID = 1495][Question Description = S2_qSNz_PG_SWK_Q47]

. A, B, Cand D/A, B, Csiiz D [Option ID = 5977]

. Aand C only/@aet A siiz C [Option ID = 5978]

. A and B only/a@act A siiz B [Option ID = 5979]

. A, Cand D only/aaet A, C siiz D [Option ID = 5980]

A WN -

Correct Answer :-
e A, B, CandD/A, B, C siiz D [Option ID = 5977]

48) 'Probation' means:

A. More strict restriction of the alternatives to incarceration

B. Least restrictive of the alternatives to incarceration

C. A sentence that is served in the community, under supervision

Choose the correct answer from the options given below:

af¥digm o1 3ref 3 ¢

A. Sedioour @ fapea 3 3iiR 31l IRed yferaeer
B. seciour o famcu 3 @ A DA gfraser

C. uwm o1 Sl AYGRI A fordgvr @ siceia siisfi sme
il fou s1u fyeseul 3 3 & 3a= goi ¢



[Question ID = 1496][Question Description = S2_qSNz_PG_SWK_Q48]

. A and B only/@act A 3iiz B [Option ID = 5981]
. B and C only/dae B siiz C [Option ID = 5982]
. Aand C only/a@aet A siiz C [Option ID = 5983]
. A, B and C/a&da A, B siiz C [Option ID = 5984]

A WN -

Correct Answer :-
e A and B only/@aet A siiz B [Option ID = 5981]

49) Groups that can be formed by social group worker
A. Class group

B. Remedial group

C. Growth group

D. Task group

E. Caste group

Choose the correct answer from the options given below:

A Sl AHIRID WIE DrRIGAl SRI TCIRM ST ADdT 3

A. Jiaot 19

B. Suarst s

C. agfs age

D. ®ri 33

E. suferr 191

ofid fou a1 el 3 1 8t ST gl ¢

[Question ID = 1497][Question Description = S2_qSNz_PG_SWK_Q49]

. A, B, Cand D only/a@aet A, B, C siiz D [Option ID = 5985]
. B, C, D and E only/a@aet B, C, D siiz E [Option ID = 5986]
. B, D and E only/dact B, D aiiz E [Option ID = 5987]
. B, Cand D only/asaet B, C siiz D [Option ID = 5988]

A w N =

Correct Answer :-
e A, B, CandD only/a@act A, B, C iz D [Option ID = 5985]

50) Tuckman has mentioned five stages of group development. Which are the stages given by him?
A. Forming

B. Storming

C. Developing

D. Performing

E. Adjourning

Choose the correct answer from the options given below:

ol of AYp DRI o uia aRuT gare & IoId> RI dlel A TART &R 3RY 3?7
A. wifdfer

B. <ifdfor

C. 3qafier

D. wwifdfer

E. ussiifsfor

offa fou o1 frepeul 3 21 & 3a= goi ¢

[Question ID = 1498][Question Description = S2_qSNz_PG_SWK_Q50]
1. A, C,Dand E only/@aa A, C, D3R E

[Option ID = 5989]
2. B, C, D and E only/daer B, C, D iz E

[Option ID = 5990]
3. A, B, D, and E only/d@ac A, B, D i E

[Option ID = 5991]
4. A, B, Cand D only/daa A, B, C 3iiz D



[Option ID = 5992]

Correct Answer :-
e A C,DandEonly/adact A, C, D3R E

[Option ID = 5989]

51) Community Organization method aims at
A. Engaging people in bringing change

B. Organising people to lead the change

C. Implementing welfare schemes

D. Mobilising masses for the structural changes

Choose the correct answer from the options given below:

AYGRI o100l fAfer o1 3297 3 -

A. sgcma ol 3 sl ®1 ORI el

B. sccma @ olgea @ fere sl @l Hs1fda wen

C. e AlSolsil @l eriifoad w2l

D. Sto1-39g @I GiaPd uf¥ade @ fére siiciass w2l

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 1499][Question Description = S2_qSNz_PG_SWK_Q51]

. A, Band C only/daer A, B 3iiz C [Option ID = 5993]
. B, Cand D only/dsae B, C siiz D [Option ID = 5994]
. A and B only/dact A siiz B [Option ID = 5995]

. B and D only/@aet B aiiz D [Option ID = 5996]

A w N =

Correct Answer :-
e A, Band Conly/aac A, B siiz C [Option ID = 5993]

52) Which of the following elements is/are common among community organisations and community development?
A. Democratic procedures

B. Voluntary cooperation

C. Self help

D. Development of leadership

Choose the correct answer from the options given below:

$oldl A Dlol A dcd ARIGIRIDB Io1od 3R ARYSIRID PRI & o1 A6 3 ?
A. cicalfoqe orifafer

B. ¥afko® JsRT

C. Faraceael (TR0 AGRIAT)

D. digca @1 fawra

il fou o1 frepeul 3 21 & 3a= goi ¢

[Question ID = 1500][Question Description = S2_qSNz_PG_SWK_Q52]
1. Aand B only/dact A siiz B

[Option ID = 5997]
2. Band C only/@act B siiz C

[Option ID = 5998]
3. Cand D only/@qa C ik D

[Option ID = 5999]
4. A, B, Cand D/A, B, C alie D

[Option ID = 6000]
Correct Answer :-
e A and B only/daer A 3iiz B
[Option ID = 5997]

53) Purposive Sampling is also known as

A. Judgemental Sampling



B. Selective Sampling
C. Subjective Sampling

Choose the correct answer from the options given below:

A YfereRIol DI fobel 310=T otredl A oft Sirelr Sirer 3 ?

A. forotarcae yferrier

B. wrRIeca® gfercriet

C. cafipforss gferarier

ofid fou a1 el 3 1 A8t A gl ¢

[Question ID = 1501][Question Description = S2_qSNz_PG_SWK_Q53]

1. Aand B only/d>aet A siiz B [Option ID = 6001]
2. B and C only/@act B siiz C [Option ID = 6002]
3. Aand C only/dact A siiz C [Option ID = 6003]
4. A, Band Conly/A, B siz C [Option ID = 6004]

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 6001]

54) Which of the following statements is true in case of the merits of Mean deviation?

A. Mean deviation is less affected by the values of extreme items than Standard deviation.
B. Mean deviation is not capable of further algebraic treatment.

C. It is rarely used in sociological studies.

D. In this method algebraic signs are ignored while taking the deviation of the items.

Choose the correct answer from the options given below:

FireR1 forerctor & fadraarsii a5 an 3 fooifeiRaa o 3 ®lor A werer A 7

A. ez Rractol a1 fererctel bl qetoll 3 aRa AT D Aol SRI B Yeafaa dlar 3
B. amear farrctor o1 3ii2 3ime) dise1IiRT SudanR ofdl fapa S AAddar 3

C. FASIANF I 31eA6ll 3 $ADI aged DA IUARI fpar sirar 3

D. 31 faf?r 3 31ct @ ferarciol I ol FIRI dieEINIdR Ricel uR &1l o1l &= St 3
oA R s1e Riecdl # A a1 & a2 goi ¢

[Question ID = 1502][Question Description = S2_qSNz_PG_SWK_Q54]

1. Aand D only/ddct A siiz D [Option ID = 6005]
2. B and C only/dae B siiz C [Option ID = 6006]
3. Bonly/aac B [Option ID = 6007]
4. Aonly/dqe A [Option ID = 6008]

Correct Answer :-
e A and D only/aact A siiz D [Option ID = 6005]

55) To achieve self-development, the 'Master Manager’ must have
A. Power driven attitude

B. Problem driven attitude

C. Vision driven attitude

Choose the correct answer from the options given below:

TcH-fIPRT D 1w 'ART: Jolsk’ 3 slol anfdu -

A. oiftp gf¥a eficmplur

B. srerz=n Yfea eftcamivr

C. gzefie gfva eftemior

offa fou s1u fyeseul 3 21 & 3a= goi ¢

[Question ID = 1503][Question Description = S2_qSNz_PG_SWK_Q55]



A only/abact A [Option ID = 6009]
B only/d@aet B [Option ID = 6010]
C only/a@aer C [Option ID = 6011]
B and C only/dact B sfiz C [Option ID = 6012]

A W N -

Correct Answer :-
® A only/aac A [Option ID = 6009]

56) In the case of Kesavanand Bharati vs Union of India, the Supreme court ruled that:

A. The list given in Schedule X of the constitution of India cannot be changed.

B. The Articles related to Fundamental Rights cannot be changed.

C.The basic structure of the constitution is inviolable and could not be amended by the Parliament.

Choose the correct answer from the options given below:

DOrAIoic Rl Tl HIRA HE D AR 3 ITATH oRIRICKRI of As forvfer &= e fop;

A. sl ifdernret &t sreyeil-X @ €t o1 SIeIdISt ol oldl SGell St ADI &

B. #c1 arferori A Jddfre siofeecl @l o1dl el St Addr 8

C. 3ifaere o1 gforndl aian solciaoii 3 sii 3313 A RI AN o1él v s Adar 3
il fou o1 fyeseul 3 2 & Ia= goi ¢

[Question ID = 1504][Question Description = S2_qSNz_PG_SWK_Q56]

A and B only/@qet A siiz B [Option ID = 6013]
A and C only/d@ac A siiz C [Option ID = 6014]
B and C only/dqet B siiz C [Option ID = 6015]
A, Bamd C/A, B aiiz C [Option ID = 6016]

A W N -

Correct Answer :-
e A and B only/d@aet A siiz B [Option ID = 6013]

57) Name the words which were incorporated in 42"4 amendment of Indian Constitution.
A. Democratic

B. Secular

C. Sovereign

D. Republic

E. Socialist

Choose the correct answer from the options given below:

el 2ifdenet @ 424 JHofterot 3 onfdrer fpU s1u 91ect @I FaET

A. dialfeqes

B. eri-forrusr

C. gy

D. s

E. sraSad:

ofi fou a1 el 3 1 8t STz gt ¢

[Question ID = 1505][Question Description = S2_qSNz_PG_SWK_Q57]

1. Aand B only/@det A siiz B [Option ID = 6017]
2. Aand C only/@aet A siiz C [Option ID = 6018]
3. B and E only/daet B 3iiz E [Option ID = 6019]
4. Cand E only/a@ae C iz E [Option ID = 6020]

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 6017]

58) Which of the following are included in the National Food Security Act (NFSA), 2013 for effective implementation of the
Act?

A. Distribution of food to all
B. Identification of eligible households

C. Issuing ration cards to the eligible household



D. Distribution of foodgrain entitlements to eligible households through Fair Price Shops (FPS)
E. Issuance of licenses to Fair Price Shop dealers and their monitoring

Choose the correct answer from the options given below:

IASERT FTEI Jen 2RI (Tal uw v ) 2013 & gerrdl erifoarial @ fére 3o siftiformr 3 fororferRaa 3 A R onfrer fpem sk 3 ?
A. 391l @ fere zarer feasur

B. urq uf¥ari &I usars e

C. urq uf¥ari @I AGI BIS Sl Bl

D. 3R e arct 916l bl gl (v Ul waa) o Aree A ureg uf¥ar] @ HrEleol ®I RIARur ool

E. SR@ e aral 9r61 &l geplell @ Slerl @I ersAA Sl @l 3iiR o1l oPRIsh o

il fou s1e fraseul 9 3 W& 3a= goi ¢

[Question ID = 1506][Question Description = S2_qSNz_PG_SWK_Q58]

1. A, B, Cand D only/daet A, B, C siiz D [Option ID = 6021]
2. B, C, DandE only/aaa B, C, D iz E [Option ID = 6022]
3. B, Cand D only/@qa B, C siiz D [Option ID = 6023]
4. C, D and E only/asaet C, D siiz E [Option ID = 6024]

Correct Answer :-
e A, B, CandD only/adaet A, B, C siiz D [Option ID = 6021]

59) Which of the following sets of elements allow individuals to work together in a group to effectively achieve a common
purpose?

A. Shared resources
B. Shared experiences
C. Shared values

D. Shared network

Choose the correct answer from the options given below:

Soldl A Plol AT dedl DI AP ARl DI AT 359U bl Yyrarcad gifft @ oo v e @ U A A1 BRI Bl B sregdfer Sar 3?7
A. Jssfora Amero

B. senforE sopa

C. Jssnfora HAreaany

D. Jssnfora sirerded

il f3u a1 fraseul 9 A W& 3= goi ¢

[Question ID = 1507][Question Description = S2_qSNz_PG_SWK_Q59]

A and B only/d>qet A siiz B [Option ID = 6025]
B and C only/a@qet B siiz C [Option ID = 6026]
C only/a@ae C [Option ID = 6027]

B and D only/daet B siiz D [Option ID = 6028]

A w N =

Correct Answer :-
® A and B only/@aet A 3iiz B [Option ID = 6025]

60) Who among the following has introduced the concept of HRD in India?
A. T. V. Rao

B. Udai Pareek

C. R. R. Singh

Choose the correct answer from the options given below:

forgatifepa 31 A foprel siRa 3 rora AA1erol farprRT Dt Fbeuen A ulkia wrRn ?
A. &

B. Sgu urtka

C. 3R Ris



il fou s1u fyeseul 3 21 & 3a= goi ¢
[Question ID = 1508][Question Description = S2_qSNz_PG_SWK_Q60]

1. Aand B only/daet A 3iiz B [Option ID = 6029]
2. Aand C only/daer A siiz C [Option ID = 6030]
3. Band C only/@ae B siiz C [Option ID = 6031]
4. A, Band C/A, B siz C [Option ID = 6032]

Correct Answer :-
® A and B only/daet A siiz B [Option ID = 6029]

61) What is true about newborn breastfeeding in India?

A. Breastfeeding is delayed

B. First milk is considered as impure and discarded

C. There is an inverse relationship between breastfeeding within the first 24 hours and neonatal mortality

Choose the correct answer from the options given below:

IR 3 sTasid f319] FRI IdeIUTa & R 3 Blel AT Bl AL & ?

A. Faerurel &1 i S8 & Sl

B. #if @I uscll ¢8I 3I9Lg oIl SIIdI 8 313 IHDI FolUlol olél DR Sl 3

C. ugdl 24 & & 9fiar Felorurel 3R oIaSId Hege B S RIcapd Ader Biar 3
il f3u s1e fraseul 9 31 & 3a= goi ¢

[Question ID = 1509][Question Description = S2_qSNz_PG_SWK_Q61]

1. Aand B only/d>act A siiz B [Option ID = 6033]
2. B and C only/@aet B siiz C [Option ID = 6034]
3. Aand C only/dact A siiz C [Option ID = 6035]
4. A, Band C/A, B siz C [Option ID = 6036]

Correct Answer :-
e A and B only/daet A siiz B [Option ID = 6033]

62) A person whose family owns or possesses any one of the following assets shall be excluded from being identified as
Economically Weaker, irrespective of the family income if s/he owns or possesses:

A. 5 acre agricultural land and above

B. Residential flat of 1000 sq feet and above

C. Residential plot of 100 sq yards and above in notified municipalities

D. Residential plot of 200 sq yards and above in areas other than the notified municipalities

Choose the correct answer from the options given below:

v cafep forIb! uiaif¥e Rl a3 & 91t A1, PR AD ular & url forafilRaa 3 A @IF off Jufr 3 d 3adb! usare ' snffe U A HIER
i’ A a1E? @2 & seedl, Aafe

A. 5 uos a1 3R SAICT Wl A YRravs 8

B. 1000 >qarr Be AT 33 AT Giqwe I AR weie 3l

C. sftryfara sPruferemsii @ 100 waarr a1E 3/ SAIGT G STARIRI-yRBRavs &

D. sif2rifira srerurferekii @ sifeify @dl ik 200 raarR a$ &l smariin 4liravs a1
il fou s1e fraseul 9 21 & 3a= goi ¢

[Question ID = 1510][Question Description = S2_qSNz_PG_SWK_Q62]
1. Aand B only/d>aet A iz B

[Option ID = 6037]
2. Aand Conly/@daet A siiz C

[Option ID = 6038]
3. A, Cand D only/dacr A, C siiz D

[Option ID = 6039]
4. A, B, CandD/A, B, C aiz D

[Option ID = 6040]

Correct Answer :-
e A and B only/dbact A 3iiz B



[Option ID = 6037]

63) The Criminal Justice System in India rests on
A. Police
B. Courts
C. Prisons

Choose the correct answer from the options given below:

3R 3 G-I Yutied! fipat wR ok 3 ?

A. gferr

B. SurITer

C. PRPIR

il fou s1o fyepeul 3 21 & 3a= goi ¢

[Question ID = 1511][Question Description = S2_qSNz_PG_SWK_Q63]

1. Aand B only/d@>act A siiz B [Option ID = 6041]
2. Band C only/dbaet B siiz C [Option ID = 6042]
3. Aand C only/@ac A siiz C [Option ID = 6043]
4. A, B and C/A, B siiz C [Option ID = 6044]

Correct Answer :-
e A and B only/daer A 3iiz B [Option ID = 6041]

64) Among the following professional Social Work Educators, who has not been a Member of Parliament?
A. Prof. K.V. Ramanna

B. Prof. Raja Ram Shastri

C. Prof. Manoj K Jha

D. Prof. K. D. Gangrade

E. Dr Anupam Hazra

Choose the correct answer from the options given below:

foratferRaa s> reIrST rI o181l 3 3 Blol IS BT A oIl I 8 ?
A. g @Al e

B. QY 2w 291 o}

C. Yl il . 3

D. QY B3 PRI

E. Si sroquat sorr

il fou s1e fraseul 9 A W& 3a= goi ¢

[Question ID = 1512][Question Description = S2_qSNz_PG_SWK_Q64]

B and C only/dqet B siiz C [Option ID = 6045]
B and E only/a@aet B iz E [Option ID = 6046]
A and D only/d@ae A siiz D [Option ID = 6047]
B and D only/a@qet B siiz D [Option ID = 6048]

A W N -

Correct Answer :-
e B and C only/aqet B siiz C [Option ID = 6045]

65) Who initiated and established the programme of CHILDLINE in India?
A. Rashmi Singh

B. Jeero Billomoria

C. Joseph Helen

D. Sharad Joshi

Choose the correct answer from the options given below:



#IRA 3 P20l arscs eisel (CHILDLINE) ®riaa & 9sand ud Fendolr &l ?

A. Mdx Bis

B. Sfidr farciienfyn

C. SiRIw 3o

D. org sieft

ofid fou a1 el 3 A 8t ST gt :

[Question ID = 1513][Question Description = S2_qSNz_PG_SWK_Q65]
1. Aonly/dact A

[Option ID = 6049]
2. Bonly/dact B

[Option ID = 6050]
3. Conly/@aa C

[Option ID = 6051]
4. D only/@ae D

[Option ID = 6052]
Correct Answer :-
e Aonly/daet A
[Option ID = 6049]

66) Match List | with List Il

List | List Il
(Journals) (Year of Start),
A. Indian Journal of Social Work 1. 1984

B. Journal of Social Work Education, Research and Actionlll. 1962

C. Contemporary Social Work 1l. 2015

D. Perspectives in Social Work V. 1940

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hife

et -1 et -l
(Stofer) (gras 1 ad)
A . 313301 Stofet sifw AlereT aas 1. 1984

B. Stolet sife Hloret aa> wsId9rel R Us Yaorel 1. 1962

C. Dicceuldst HoreT aas 1ll. 2015

D. uzfufdresat sof Hlora am 1V. 1940

off< feu aru frpedl 3 3 3 3R gfore :

[Question ID = 1514][Question Description = S2_qSNz_PG_SWK_Q66]
1. A-1,B-ll,C-lll,D-IV

[Option ID = 6053]
2. A-ll,B-lIl,C-IV,D-l

[Option ID = 6054]
3. A-IV,B-lll, C-Il,D-l

[Option ID = 6055]
4. A-IV,B-Il,C-l,D-l

[Option ID = 6056]
Correct Answer :-
e A-I,B-Il,C-lll,D-IV

[Option ID = 6053]

67) Match List | with List Il

List | List Il
A. Social Work: An Empowering Profession I. Lena Dominelli




B. Social Work: Theory and Practice for a changing profession|ll. Brij Mohan

C. The Future of Social Work Ill. Fred Powell

D. The Politics of Social Work IV. B. DuBois & K.K.Miley|
Choose the correct answer from the options given below:

et -1 B e -1l A e Hife

et - et -1l
A, JI9TCT O : Tol TIUIAiST QB 9reT |. cfietr Stefioict
B. Alorct aas : RRIE us Yfdea Wiz ifSier
Il. gst #iget
QW 9reT o
C. g WITR 3P AI9ICT ad lll. © surde
D. g difiRawr 3IE ALl ab g;ﬁ.w ud . .

il fou a1 fseul 3 A A IR gfom ©

[Question ID = 1515][Question Description = S2_qSNz_PG_SWK_Q67]
1. A-1,B-Il,C-lll,D-IV

[Option ID = 6057]
2. A-ll,B-ll,C-IV,D-l

[Option ID = 6058]
3. AN, B-IV,C-l,D-I

[Option ID = 6059]
4. A-IV,B-l,C-ll,D-l

[Option ID = 6060]
Correct Answer :-
® A-1,B-Il,C-lll,D-IV
[Option ID = 6057]

68) Match List | with List Il

List | List Il

A. R.K. Merton I. Theory of migration

B. Everett S. Lee Il. Theory of deviance

C. Emile Durkheim lll. Theory of stratification
D. Max Weber IV. Suicide theory

Choose the correct answer from the options given below:

it -l oot 3 -1l A Fgafera HifSie :

Rxett -1 gl

A. 3R, ®. Il |. gariet @1 Rigia
B. wadc wa cft 1. forretatr o1 Rigra
C. sarsd gxila lll. i1 @1 RBigia
D. 3iaa daz IV. sireargen Brgia

oifa feu aru fasedl 3 A 8 3R gforu :
[Question ID = 1516][Question Description = S2_qSNz_PG_SWK_Q68]

A-l,B-Il, C-lll, D -IV [Option ID = 6061]
A-ll,B-Ill, C-l,D-IV[Option ID = 6062]
A-ll,B-l, C-IV, D -Ill [Option ID = 6063]
A-IV,B-Il, C-lll, D -l [Option ID = 6064]

A w N =

Correct Answer :-
e A-l,B-Il,C-Ill,D-IV[Option ID = 6061]

69) Match List | with List Il

List | List Il
A. Remedial Model I. Vintor.R.D
B. Reciprocal Model 1. W.Schwartz

C. Developmental Modelllll. Bernstein.S & Lowy
D. Social Goals Model [IV. Gisela Konopka & Weimer
Choose the correct answer from the options given below:

et -1 B e -1l A e Hife



et -1 il
A. SUARICAD ATS |, fdocz am=. 1
B. sro:ilcer ATScT 1. secy Farcst

C. fadprarcas asa 111, Szex<ticr vt U3 didt
D. wanfSies cga arsda V. SiixYeir wroiver iz dloa
oifY feu oru famedl 3 A 8 3R gforu :

[Question ID = 1517][Question Description = S2_qSNz_PG_SWK_Q69]

A-1,B-Il, C-lil, D -IV [Option ID = 6065]
A-IV,B-Ill, C-Il, D -l [Option ID = 6066]
A-ll,B-IV, C-I, D -l [Option ID = 6067]
A-ll, B -1, C-IV, D -Il [Option ID = 6068]

A w N =

Correct Answer :-
e A-l,B-Il,C-Ill,D-IV[Option ID = 6065]

70) Match List | with List Il

List | List Il

(Role) (Strategy)

A. Enabler |. Research and Planning
B. Planner Il. Finding Solution

C. Activist Ill. Community Education
D. Outreach IV. Social Action

Choose the correct answer from the options given below:

et -1 B e -1l A g i

Raeht - |
(r)

et -1
(Arototr)

A. Jarel dotror arcir

|. srefRienst 3iiR AlsToll

B. AISToll dollol dIcll

Il. J13menst gra o

C. ®rI @301 aren

Ill. s3geIRes forem

D. uga 3ol darelr

IV. = fogen

il fou o1 fyseul 3 3 A IR gfor ¢
[Question ID = 1518][Question Description = S2_qSNz_PG_SWK_Q70]

A-l,B-Il, C-lll, D -IV [Option ID = 6069]
A-l,B-Il, C-IV, D -lll [Option ID = 6070]
A-ll,B-l,C-lll, D -IV[Option ID = 6071]
A-ll,B-l,C-IV, D -lll [Option ID = 6072]

A W N -

Correct Answer :-
e A-l,B-Il,C-lll,D-IV[Option ID = 6069]

71) Match List | with List I

List | List Il
A. Oral History |. Quantitative data
B. Survey Il. People's knowledge

C. Sampling

lll. Indepth Study of a Unit

D. Case Study

IV. Representative of a Whole

Choose the correct answer from the options given below:

It -1 Bt e -1l A gakma Hifde :

Rxet -1 Rreh -l

A. siiRaw sfert |. AGIcAD MBS

B. rdgmor Il. <=l @1 Siret

C. gfererat lll. fp=ft sPTE I 31601 RIS
D. @531 31eRIol IV. 3er1 @1 gferforfer

il fou s1e fyscul 3 A At IR gfom :
[Question ID = 1519][Question Description = S2_qSNz_PG_SWK_Q71]

A-l,B-Il, C-lll, D -IV [Option ID = 6073]
A-Il,B-I, C-IV, D -lll [Option ID = 6074]
A-ll,B-IV, C-I, D -ll [Option ID = 6075]
A-IV,B-Ill, C-Il, D -l [Option ID = 6076]

A w N -

Correct Answer :-
® A-l,B-Il,C-lil,D-IV[Option ID = 6073]



72) Match List | with List Il

List |
A. Ayushman Bharat Yojana
B. Rashtriya Vayoshri Yojana

List Il

I. Ministry of Social Justice and Empowerment
Il. Ministry of Minority Affairs

C. Ustaad lll. Ministry of Health and Family Welfare

D. National Creche Scheme |IV. Ministry of Women and Child Development
Choose the correct answer from the options given below:

I -1 @ R -1l A Fgafera dHifsre ¢

Rret -1 et -l

A. SIRIRISATGT IR ATSToll |. AT RIRT Td ARDIDBIVT FHeIeRT
B. i aRitofi Astenn Il. cuiRIP APl DI HJICRT

C. Jag Ill. ¥area vd ufsar AT FqIerR
D. Ircéi forgRica Alstoll V. afdcn vd arer fawrRT diqrern

offa f3u a1 fawedl & A wd Iaz gfere :

[Question ID = 1520][Question Description = S2_qSNz_PG_SWK_Q72]

A-ll,B-IV, C-Il, D -l [Option ID = 6077]
A-ll ,B-Ill, C-IV, D -l [Option ID = 6078]
A-lll, B, C-ll,D-IV[Option ID = 6079]
A-l,B-ll, C-lil, D -IV [Option ID = 6080]

A w N =

Correct Answer :-
e A-lll,B-IV,C-Il,D-I[Option ID = 6077]

73) Match List | with List I

List |
Name of Committee/Commission

List Il
Field

A. Rangarajan Committee

I. Agricultural sector reforms|

B. Balwant Rai Mehta Committee

Il. Measurement of Poverty

C. Kasturi Rangan Committee

lll. Panchayati Raj

D. Swaminathan Commission

IV. National Education Policy

Choose the correct answer from the options given below:

et -1 Bt 3l -1l A AR Hifre

et -1 ozt -l

(afiferit / 3iRieT o1 otrer) (8r)

A. RISl Afdfer I. ofy g Fearr

B. dcrdd IR daar Afdfer Il. srdiet @1 Imaet
C. o3l o101 Afdfer lll. varIed st

D. anileres rRieT IV. st forem oiifer

il fou s1e frseul 3 3 A IR gforw ©
[Question ID = 1521][Question Description = S2_qSNz_PG_SWK_Q73]

A-ll,B-Il,C-l,D -V [Option ID = 6081]
A-IV,B-lll, C-Il, D -l [Option ID = 6082]
A-ll, B -1, C-Ill, D -IV [Option ID = 6083]
A-Il,B-lll, C-IV, D -l [Option ID = 6084]

A W N -

Correct Answer :-
o A-lll,B-Il,C-l,D-IV[Option ID = 6081]

74) Match List | with List Il

List | List Il
A. World Down Syndrome Day . 21 March
B. World Meteorological Day Il. 23 March

C. World Water Day Ill. 22 March
D. World Tuberculosis Day IV. 24 March
Choose the correct answer from the options given below:

et -l oot 3 -1l A Fafera Hifste :

Rt -1
A. foaea e Rogler axa

eh -1l
. 21 ok




B. fera aiiad fasirel fGaa 1. 23 sk
C. fra ster RRaa Il. 22 st
D. fora aqufce fGa IV. 24 @t
sifa feu o1e fameul 3 A At 372 gforw :

[Question ID = 1522][Question Description = S2_qSNz_PG_SWK_Q74]

A-l,B-Il, C-lll, D -IV [Option ID = 6085]
A-ll,B-l,C-IV, D -lll [Option ID = 6086]
A-lIl,B-IV, C-l, D -Il [Option ID = 6087]
A-IV,B-lIl, C-Il, D -l [Option ID = 6088]

A WN -

Correct Answer :-
® A-l,B-Il,C-Ill,D-IV[Option ID = 6085]

75) Match List | with List Il

List | List Il

Articles in the

Description
Constitution of India P

|. Reservation of seats for SC/ST in the Lok

A. Article 243 D
rticte Sabha

1. Reservation of seats for SC/ST in the

B. Article 243 T s .
Legislative Assemblies

C. Article 330 Ill. Reservation of seats in Panchayats

D. Article 332 IV. Reservation of seats in Municipalities

Choose the correct answer from the options given below:

gl -1 @1 3 -1l A Fgafera Hifste ¢

et -1 et -1l

(srrciier Ziferermot o e )

BI6I<d3)

A. 3roese 243 3t |. clieo2raT 3 319, I / 31. Sl S @ 2HIel I 3MReIvT
Il. fererret 81131l 3 3161, L. / 31 SI. ST @ Il @1

B. socadc 243 &
SITRGIUT

C. so1esg 330 Ill. daridal 3 et o1 sm=err

D. srofcsds 332 IV. serurferemrsii 3 il o1 snrgrr

il 3w a1 fyseul 3 A At IR gfom ©

[Question ID = 1523][Question Description = S2_qSNz_PG_SWK_Q75]
1. A-1,B-Il,C-lll,D-IV

[Option ID = 6089]
2. A-1,B-Il,C-IV,D-l

[Option ID = 6090]
3. AN, B-IV,C-l,D-I

[Option ID = 6091]
4. A-IV,B-lll,C-Il,D-l

[Option ID = 6092]

Correct Answer :-
® A-1,B-Il,C-lll,D-IV

[Option ID = 6089]

76) Arrange the different phases of development of the Social Work profession in ascending order
A. Charity

B. Development

C. Empowerment

D. Welfare

Choose the correct answer from the options given below



TSI DRI RIGART B TR 6 faffoo srazensiit o RIS @ d waf¥ea Hifsie :
A. gt

B. faort

C. aofRpaur

D. @camr

ofi o s1u fwsedl & A A8 IR BT <RIl HIfvIT :

[Question ID = 1524][Question Description = S2_qSNz_PG_SWK_Q76]

A, B, C and D [Option ID = 6093]
B, C, D and A [Option ID = 6094]
D, A, B and C [Option ID = 6095]
A, D, B and C [Option ID = 6096]

A W N -

Correct Answer :-
e A, B, Cand D [Option ID = 6093]

77) Arrange the books in order of publication from earliest to most recent:
A. The Sociology of Science - R.K.Merton

B. Das Kapital - Karl Marx

C. The Division of Labour in Society - Emile Durkheim

D. Modernisation of Indian Tradition - Yogendra Singh

E. Community: A Sociological Study - Maclver

Choose the correct answer from the options given below

ud A aldaret S a3 Heetifed grast & gmiere o wrafyerd Hifse :
A. g ARRICE e AEA - AR, B. AT

B. g1 dftreet - wret airart

C. ¢ 3dism 3w R 3ol ARISE - saEc gHila

D. siigeiresiont sifw $f3er iore - Aviog Ris

E. oxiferét v AfIrRNcNfSpa ¢l - A msar

il feu s1u faeedl 3 A A8 IR @1 TRIet B :

[Question ID = 1525][Question Description = S2_qSNz_PG_SWK_Q77]
1. B,C,A,Dand E

[Option ID = 6097]
2. B,C,E,Aand D

[Option ID = 6098]
3. B,E,A CandD

[Option ID = 6099]
4, B,A,C,Eand D

[Option ID = 6100]

Correct Answer :-
e B,C,A,DandE

[Option ID = 6097]

78) 'Name-calling' is frequently observed with respect to Persons with Disability because it :
A. reflects the hegemony of the able-bodied

B. is offensive

C. is acceptable

D. is an instrument of oppression

Choose the correct answer from the options given below

fe=rior cuftpeil @ yfer arR - arR S Jae 9recl (ol pIfeidr) ol IuIlel g sirar & a-ifes @ :
A. orfif¥® wu A Ag cafepl @1 snffruca ygfa war 3



B. 3IUeiIoISIol® BXT 3

C. ¥diort atar 3

D. 3ctisel T Arerel BT 3

ofid o s1u fwedl & A A8} IR BT wRI6l HifvrT :

[Question ID = 1526][Question Description = S2_qSNz_PG_SWK_Q78]
1. A, C, and D only/@aet A, C iz D

[Option ID = 6101]
2. A, B, and C only/dact A, B 3iiz C

[Option ID = 6102]
3. A, B and D only/daer A, B 3iiz D

[Option ID = 6103]
4. B, C and D only/@aa B, C 3siz D

[Option ID = 6104]

Correct Answer :-
e A, C, and D only/aaet A, C 3iiz D

[Option ID = 6101]

79) Arrange the major writings of Mary Richmond in chronological order.
A. Friendly Visiting Among the Poor

B. Social Diagnosis

C. What is Social Case Work?

Choose the correct answer from the options given below

331 Rraavs @ yga crdl o SIagAeRIR caiyerd Hifsu :

A. ©sdifafsifésr wier g ysre

B. Jrorer SRPCNRRT

C. oBIc 551 DA ad ?

il fou o1 freseul 3 3 I IR BT TI6T HIfSIE :

[Question ID = 1527][Question Description = S2_qSNz_PG_SWK_Q79]

A, B and C [Option ID = 6105]
C, B and A [Option ID = 6106]
B, C and A [Option ID = 6107]
B, A and C [Option ID = 6108]

A W N -

Correct Answer :-
e A, B and C [Option ID = 6105]

80) Arrange the steps of hypothesis testing in order:
A. Set up a hypothesis

B. Set up a suitable significance level

C. Set a testing criterion

D. Do computations

E. Make decisions

Choose the correct answer from the options given below

af¥cuet udtervT & forForfeiRad arull Bl HAHGRIR 34 :

A. uf¥mcaen fererff¥a won

B. Suxgep wefmar = forerifea won

C. usigiur airerEs forerifya waon

D. uf¥s1ureie @l

E. forofr drom

il feu sru farsedl 3 A A8 IR @1 WRIel B :

[Question ID = 1528][Question Description = S2_qSNz_PG_SWK_Q80]



1. A,B,C,D, E

[Option ID = 6109]
2. A, C,B,D,E

[Option ID = 6110]
3. C,A,B,D,E

[Option ID = 6111]
4. B,C,A D, E

[Option ID = 6112]

Correct Answer :-
e A/B,C,D,E

[Option ID = 6109]

81) Arrange the following policies in a chronological manner from the earliest to most recent
A. Pradhan Mantri Ujjwala Yojana

B. Pradhan Mantri Gram Sadak Yojna

C. Swachh Bharat Abhiyan

D. Ayushman Bharat Yojna

E. National Broadband Mission

Choose the correct answer from the options given below

forgatferRaa ofiferl @1 gd 21 il ao & o1 i PraadeRIR RalFaa Hifse :

A. yenenidl 3 Sseract Arsten

B. germewidl sper Asw Alstelt

C. ¥a® urd 3ifirimet

D. IRRIEHI6T RA AlSTolT

E. s grsdvs RBioet

ofid o s1u fwedl & A A8 IR BT WRI6l BT :

[Question ID = 1529][Question Description = S2_qSNz_PG_SWK_Q81]
1. B,D, A, C, E

[Option ID = 6113]
2. D,B,AEC

[Option ID = 6114]
3. B,C,A, D, E

[Option ID = 6115]
4. D,B,C A E

[Option ID = 6116]

Correct Answer :-
e B,D,ACE

[Option ID = 6113]

82) Arrange the following in the correct sequence :
A. Message composition

B. Message encoding

C. Medium of transmission

D. Reception

E. Motivation

Choose the correct answer from the options given below

foratferRaa 1 18l @@ 3 cralyed o3 :
A. AcS9r AHRAISTor
B. 316¢9r1 ay¢ dolloll

C. YRIRVI Pl HIEAH



D. sféeygor
E. siférgzor
ofia f3u a1u faaseul 3 A I8 IR DI TR BRI

[Question ID = 1530][Question Description = S2_qSNz_PG_SWK_Q82]
1. A,B,C, D, E

[Option ID = 6117]
2. E,D,C, B, A

[Option ID = 6118]
3. E,AB,CD

[Option ID = 6119]
4. AE,C,B, D

[Option ID = 6120]

Correct Answer :-
e A/B,C,D,E

[Option ID = 6117]

83) Arrange methods of dispute resolution by a manager in an institution
A. Adjudication

B. Arbitration

C. Negotiation

D. Conciliation

Choose the correct answer from the options given below

T 3 Oh JELD D SRI AHETG D dRIdl DI RIai-erd dhifsru :
A. aiftrforofar

B. uw forfa

C. Jfrarafor

D. wrasiiar

il fou s1u fraseul 3 A I IR BT Tl HIRdIE ©

[Question ID = 1531][Question Description = S2_qSNz_PG_SWK_Q83]
1. A,B,C,D

[Option ID = 6121]
2. B,C,D, A

[Option ID = 6122]
3. C,D,B, A

[Option ID = 6123]
4. D,C,B, A

[Option ID = 6124]

Correct Answer :-
e A/B,C,D

[Option ID = 6121]

84) Arrange the stages of Social Group Work in sequential order.
A. Engagement

B. Exploration

C. Planning

D. Intervention

E. Evaluation

Choose the correct answer from the options given below

ARG Mg PRI D Rl Bl @t A =af¥ed Hifsie :
A. faforitster



B. (zs1) w=idgor

C. st

D. sFasga

E. gcaidor

ofi o s1u fwedl & A A8 IR BT wRI6l BT :

[Question ID = 1532][Question Description = S2_qSNz_PG_SWK_Q84]
1. A,B,C, D, E

[Option ID = 6125]
2. C,B, A D,E

[Option ID = 6126]
3. B,C,ADE

[Option ID = 6127]
4. A, C,B,D,E

[Option ID = 6128]

Correct Answer :-
e AB,CDE

[Option ID = 6125]

85) Arrange the following chronologically:

A. Abolition of Untouchability under Article 17

B. The Civil Rights Protection Act

C. The Schedule Castes & Schedule Tribes (Prevention of Atrocities) Act

Choose the correct answer from the options given below

fogatferRaa Y ety @ SGRIR caaf¥ed Hifsm:

A. 31o18c 17 @ siaeld 3G9I DI Iodiclol

B. sipiftyp siferorR Jzgivr sifdiforia

C. sropafera sufer siiR seRIRM Stot sfer (Icdiser @I forarur) siféformr .
ofi o s1u fwsedl & A A8} IR BT wRI6l BT :

[Question ID = 1533][Question Description = S2_qSNz_PG_SWK_Q85]
1. C,A, B

[Option ID = 6129]
2. B,A,C

[Option ID = 6130]
3. A,C, B

[Option ID = 6131]
4. A B, C

[Option ID = 6132]

Correct Answer :-
e C,A, B

[Option ID = 6129]

86) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Social legislations ensure access to fundamental rights.
Reason R : Public Interest Litigation cannot be filed for violation of social legislations.

In light of the above statements, choose the most appropriate answer from the options given below

ofil & Deror Ru s1e & ¢ wop afdrwer (A) & wu # Rifad 3 di garr sud oru (R) & wa a
aifireseret (A) : s R FenfRioR supEer JRIRIT B &

@Rl (R) sl fyerret & 3cciael @ fére soifda anfreT SRR o181 &I oI wrepddl 3
SRITP Pl D 3MIclid #, ofld fBu 31w fypedl 3 A AR IuYTh IaR DI Tol HIvIT ©

[Question ID = 1534][Question Description = S2_qSNz_PG_SWK_Q86]
1. Both A and R are correct and R is the correct explanation of A/(A) iz (R) g¥ail 21t 8 3l (R), (A) &l 3t = 8



[Option ID = 6133]
2. Both A and R are correct but R is NOT the correct explanation of A/(A) siz (R) cleil 3 & w3oq (R), (A) 6t At e o1t

[Option ID = 6134]
3. Aiis correct but R is not correct/(A) 3@t 2 cifcpor (R) 2@t ordt &

[Option ID = 6135]
4. Ais not correct but R is correct/(A) & oiél 2 cifdpor (R) 21 3

[Option ID = 6136]
Correct Answer :-
e Both A and R are correct and R is the correct explanation of A/(A) siiz (R) el 3@t & 3z (R), (A) 6 38 e 3

[Option ID = 6133]

87) Given below are two statements, one is labelled as Assertion A and the other is labelled as Reason R

Assertion A : Industrial Social work is a systematic way of helping individuals and groups towards better adaptation to work
situation.

Reason R  : The professionally trained social worker can develop his/her programmes at preventive, developmental and
curative levels.

In light of the above statements, choose the correct answer from the options given below

il St werol Ry s1e 3@ v sifdrperet (A) @ wu 3 failRaa 3 aY garr 33 ®rRut (R) & »u ¥ :

sfdrperet (A) : 3lENfre IS BRI Iftp wd gl B Brf & Rafer & 12 Jeaz sisfiaun &l eriar @ fére ve *af¥erda yuned 3
@Rl (R) : =ra=nRie 3u A gioidia s oriwdl forlem, prRIca® vd NRMA® IR R Ia= & PRIGH [IeRia o2 Aoar 3
SWRITP Pl D 3MIclid A, ofld fBu 31w fRypedl 3 A AR IuYTh IR DI Tol HIRIT ©

[Question ID = 1535][Question Description = S2_qSNz_PG_SWK_Q87]
1. Both A and R are true and R is the correct explanation of A/(A) 3l (R) glall 31 & 3z (R), (A) &t 3 amren 3

[Option ID = 6137]
2. Both A and R are true but R is NOT the correct explanation of A/(A) 3iiz (R) cleil 31 8 w¥oq (R), (A) 6t 3t w=m=n o8t 8

[Option ID = 6138]
3. Ais true but R is false/(A) 3 3, Afdver (R) 3R 3

[Option ID = 6139]
4. Ais false but R is true/(A) sric &, dfevor (R) 3=

[Option ID = 6140]
Correct Answer :-
e Both A and R are true and R is the correct explanation of A/(A) siiz (R) @il 31 8 3R (R), (A) 6l 3t = &

[Option ID = 6137]

88) Given below are two statements
Statement | : Community based organizations must follow the principles of social justice and human rights.
Statement Il : Community based organizations must not be sectarian in nature.

In light of the above statements, choose the most appropriate answer from the options given below

ofil &1 weror Ru ame 3 :

@l - | : YR menfea Fsrooll Bl ARG IRI iR Hlold f2rprl & Rigidl o urde w2 3w
oot - || : FHgr snenfya Fsroeil o AYSRAIKST ol dlon aifde

SWRID Dol @ 3MIclid A, ofid fGu 31w faaedl 3 A A IUYTD IR DI TIol HIfSIT ©

[Question ID = 1536][Question Description = S2_qSNz_PG_SWK_Q88]
1. Both Statement | and Statement Il are correct/aerat | 3iiz |l Sl &8t &

[Option ID = 6141]
2. Both Statement | and Statement Il are incorrect/@erwr | 3iiz || Sloil stctd &

[Option ID = 6142]
3. Statement | is correct but Statement Il is incorrect/wmert | 3@t 8, fpoq el |l s &

[Option ID = 6143]
4. Statement | is incorrect but Statement Il is correct/@ert | sriI 8, fpog werer || AT 8

[Option ID = 6144]

Correct Answer :-
e Both Statement | and Statement Il are correct/a@eror | iz 1l Srail 318t 3



[Option ID = 6141]

89) Given below are two statements

Statement | : Reciprocal model of social group work is based on open system theory, humanistic psychology, and existential
perspective.

Statement Il : Remedial model of social group work is based on programming social consciousness, social responsibility and
social change.

In light of the above statements, choose the most appropriate answer from the options given below

ofidl &1 werer Ru are 3 :

Dol - | : ARIRIP AHBD DRI BT R Yiererol db =Iazell Rigid, Ax™ddic! deilidsiel iR iRaraardt ulgga uz snenfya 8

Do - || : A AR PRI BT SuarR! Y, AP Aol © GATGIG, AFIRID JTRGIRRT 3R ADIRIKD Uikdde UR mentyd 3
SRITP Pl D 3MIclid A, ofld fBu s1u fRypedl 3 A AR IuYeh IaR DI Tol HIRIT ©

[Question ID = 1537][Question Description = S2_qSNz_PG_SWK_Q89]
1. Both Statement | and Statement Il are correct/aerat | 3ii2 |l Sl 28t &

[Option ID = 6145]
2. Both Statement | and Statement Il are incorrect/@err | 3iiz || Slol stctd &

[Option ID = 6146]
3. Statement | is correct but Statement Il is incorrect/wmermer | %@t &, fpog @ert || arerT &

[Option ID = 6147]
4. Statement | is incorrect but Statement Il is correct/@eret | srera 8, fpog weret || 31 &

[Option ID = 6148]
Correct Answer :-
e Both Statement | and Statement Il are correct/aerwr | iz 1l Slail 31 3

[Option ID = 6145]

90) Given below are two statements

Statement | : Under the Protection of Women from Domestic Violence Act, 2005, "verbal and emotional abuse” includes
insults, ridicule, humiliation, and name calling.

Statement Il : The insults or ridicule specially with regard to not having a child or a male child is not punishable under the
Act.

In light of the above statements, choose the most appropriate answer from the options given below

ofla <Y averet feu a1 3 ¢

el - | =g B A Afdemsii ot g sif2iforper 2005 @ siasia "aifere sz Marca® geidsr” 3 3193il6l, USRI, IGIGIoll Ud ATHICRUI
alafera o 3

ool - || : acar ot 3telr a Yg oSl dlol @ Jdder I fOpn SR 3MU3iIe] AT USRI Plefol & 3ideld SSoil oidl 3
SWRIFP Pl D 3Mrelld #, ofld 3w 31w frpedl 3 A AR IuY IR DI TRIol HIRIT ©

[Question ID = 1538][Question Description = S2_qSNz_PG_SWK_Q90]
1. Both Statement | and Statement Il are correct/erwer | 3iiz |1 et 31t &

[Option ID = 6149]
2. Both Statement | and Statement Il are incorrect/@erer | 3z || Sloil srcte 3

[Option ID = 6150]
3. Statement | is correct but Statement Il is incorrect/@erwet | 31& 2, fipoqg werer |l steta &

[Option ID = 6151]
4. Statement | is incorrect but Statement Il is correct/ et | s1ci &, fpoq et |l 3@t 8

[Option ID = 6152]

Correct Answer :-
e Both Statement | and Statement Il are correct/@erer | 3iz || Sloil 3 &

[Option ID = 6149]

Topic:- SocialWork_SHAAN_NOV21B

1) Read the given passage and answer the question

Social workers should critically assess their own practices and be aware of their impact on others. They should recognize the



limits of their practice and seek the advice of other professionals if necessary in order to ensure that they work in a more
effective manner. They should also routinely review the professional literature and participate in continuing education
relevant to social work practice and social work ethics. Social workers should not allow their own personal problems,
psychological distress, legal problems to enter into professional performance.

Social workers should ensure that they do not participate in, condone or be associated with dishonesty, fraud or deception.
They should ensure and must shoulder responsibility and credit, including authorship credit, only for work they have
actually performed and to which they have contributed. They should honestly acknowledge the work and contribution made
by others. Social workers must work for the promotion and maintenance of a higher standard of education and for practice.
Social workers must uphold and advance the values, ethics, knowledge, mission and goals of the professions. They must be
open to peer learning, tolerance for criticism, innovative strategies and creative ventures.

forgsiferRa srerion @l eareIyd® uféu iz Yool @I IR IS ©

ARIRTD BRIGALI B! U6t RIGERI BT AATCIIGIHD HAidDol Bl AT 3R IRI U= IoTd PHId D Yfel SIPRe Bloll 3T 368 U6l
=rasR &I Hiarsil G usarel Slell anfae iz A Jfoiaa mel @ fore fo d v sarer Yairdl afld> A Rl ® & g caaARid dRiwalsil A PR
3MG9AD Bl €l IAcIIB clofl BT Io8 RIGAIRID AMSA DI 01T YoII8IvT oIl TN 311 AT PRI RGBSR AT AATST DRI MRIR AR D
grRifdre Jadq O1en 3 upiicr cofl aifde S driwaisii @ il caftperda =i, Acldsiford cren aan fafer - faerie AaHz=nsil ot
IR forsurset 3 gaor b siopfer o1dl Sofl anfdu

Ao eriwmdalsll o! as Jfoifia o aifdu e d o HPI d, of eIl B3 a1 B, ®uc, &dl, ddel, AR A WIAE 8l Jos JfolfRIa del
aif3u 3z sraed JarciRica 6l REFdarst aen 9 dofl aifde, Rl dradbky 9 sit BRI Joslel ardafad wu i e 3 iz Rerd yfer sosla
APIG 61 & 368 $Hreierl 3 o3RI & BRI SiiR B 31U ARIcrel I Jlolon aifdu ARG BrRiwalsil o Pign & 3ca IR A1 RATGER D
QIAsd 3R AFUIYUT D fe1u /a9 DRI ool aifde ArfSIe PRIGALI B RIGRIRI @ e, ARIR - AR, HAGIIS9A 3R clgAl bl FrIfer 3R
Ioolfel I DRI eIl AMST Ios ABIPEl 2P, Aisn D o1 ARBTYAI, oIARIRYD PRI - siifel 1R Follcad ABRIP® DRI 3q oligd aloll
aifde

How would you like to title the above mentioned passage?

JWRITH 3TEri9r oI 9fitias MU a=IT Solt ardal ?

[Question ID = 1539][Question Description = S2_qSNz_PG_SWK_Q91]
1. Critical Appraisal of Social Work Profession/ 3wt @Rl 49t @1 3efigicos seaforsuvt
[Option ID = 6153]
2. Advisory for Social Workers /s @wriadafsii @ o wameret
[Option ID = 6154]
3. Responsible Criticism of the Profession/xIazirr &t 3azcrfl efien

[Option ID = 6155]
4. Code of Ethics for Social Workers/zmufsi wriamdaisil @ fore sirar ifdar

[Option ID = 6156]

Correct Answer :-
e C(ritical Appraisal of Social Work Profession/<wist ®rf 39t @1 Jfiencne seiforsuur
[Option ID = 6153]

2) Read the given passage and answer the question

Social workers should critically assess their own practices and be aware of their impact on others. They should recognize the
limits of their practice and seek the advice of other professionals if necessary in order to ensure that they work in a more
effective manner. They should also routinely review the professional literature and participate in continuing education
relevant to social work practice and social work ethics. Social workers should not allow their own personal problems,
psychological distress, legal problems to enter into professional performance.

Social workers should ensure that they do not participate in, condone or be associated with dishonesty, fraud or deception.
They should ensure and must shoulder responsibility and credit, including authorship credit, only for work they have
actually performed and to which they have contributed. They should honestly acknowledge the work and contribution made
by others. Social workers must work for the promotion and maintenance of a higher standard of education and for practice.
Social workers must uphold and advance the values, ethics, knowledge, mission and goals of the professions. They must be
open to peer learning, tolerance for criticism, innovative strategies and creative ventures.

forgsifeiRae srerion @l earelyde® uféu 3iik Yool @I IR <IfSrT &

ARIRIS BRIGALI B! U6l RIGERI BT AATCIICIEHD HIidol Dol AIf3T 3R GRI U= IoId YHId D Yfel SIPReD Bloll AIfdT 368 36l
wIasR &t Htemsil B usaret ol aifdu siiz A Jforfia ol @ fore e a v surer goirdt afid A BRf B 3 R AGARID BRIl A PR
3MA9AD Bl €l B clofl BT I68 RIGARID AMBI DT foT=T YoIISIvT D!l <AIf3T 31 AT PRI RGBSR AT AATST DRI MFRIR AR D
gRIfI® ded fore 3 delicr cell aifdu AN dRidpaisil oI Uil Riftbord FA13il, HAelldsiiiold e aor fafér - fowRe a3l ot



RIRRIP forcurcot 3 ydor &l sioafer oidl Soft anfdu

AT PrRiwmdalsll o! as Jfeiia wen aifde b d o HeI d, o eIcXEl B3 a1 B, ®uc, &I, ddel, YARYI A AFAg 8l Jos JfoIRIA doell
aifdu 3fiz sraed IarciRica &l RFdart asn 9 coft aifde, Rl cradbi I st BRI Sealel arafid »u 3 b 8 ik ferd yfer soala
2APIGIol ST 8 306 SATGIGRI A GIRI @ DRI 3R ST 31U ARIGIel P Aleloll UM AP PRIPGAII P 9181 & I FAR Al RGBR D
IcATeal 3R AFUIYUI D 10 3[a9: BRI Bl aIfss ATHIRID PRIGALNT DI RIGARI @ Icl, A[R - IR, SIGIEA 3R c1gAl b Fricr iRk
Ioolfel I DRI oIl AIf3T Iod Asrel siferem, Fefisn & fore AR, srarRITs BRI - siifer i Foca® ARie BRIt 3q sreIgTd dlon
aifde

The cursory reading of the above passage gives an impression that

A. Social workers are indulged in unethical practices.
B. Social workers allow their personal problems in their professional practices
C. Social workers do not take plagiarism very seriously

Choose the correct answer from the options given below:

SURITP el I {31Y - Usel A6 &RvN ¢l & b -

A. AnfSie oRipdl mR-3HEar & fudia <asRrI 3 iced &

B. wmnfSie wrical srael RIaRIRIes =IasRI # el Jftbd Fd=I1311 DI gt 3a 3
C. A oriwdal ererdRt o ggd sifiar A okl ad 3

ofi fou s1u fmedl 3 A AT ST IR BT RI6T HIRIT :

[Question ID = 1540][Question Description = S2_qSNz_PG_SWK_Q92]
1. Aonly/@ae A

[Option ID = 6157]

2. Aand B only/dact A iz B
[Option ID = 6158]

3. Band C only/d@act B siiz C

[Option ID = 6159]
4. A, Band C/A, Bz C

[Option ID = 6160]

Correct Answer :-
® A only/adact A
[Option ID = 6157]

3) Read the given passage and answer the question

Social workers should critically assess their own practices and be aware of their impact on others. They should recognize the
limits of their practice and seek the advice of other professionals if necessary in order to ensure that they work in a more
effective manner. They should also routinely review the professional literature and participate in continuing education
relevant to social work practice and social work ethics. Social workers should not allow their own personal problems,
psychological distress, legal problems to enter into professional performance.

Social workers should ensure that they do not participate in, condone or be associated with dishonesty, fraud or deception.
They should ensure and must shoulder responsibility and credit, including authorship credit, only for work they have
actually performed and to which they have contributed. They should honestly acknowledge the work and contribution made
by others. Social workers must work for the promotion and maintenance of a higher standard of education and for practice.
Social workers must uphold and advance the values, ethics, knowledge, mission and goals of the professions. They must be
open to peer learning, tolerance for criticism, innovative strategies and creative ventures.

forgsifeiRan srerion @l earelyde® uféu 3iik Yool @I 3R <IN @

ARIRIG BRIGALI B 3Tt RITERI BT AATCIICIIHD HcAID6l Bl AIf3T 3R 2RI U2 IoId YHIa D Yfel SIPReD Bloll aAIfdT 358 3ol
IasR &l Hlesil B usdre! kol a1fdu siiz A Jforfia ol @ e 6 a v surer gerdl afid A BRI B 3 R ARG BrRIGHisil A PR
3MA9AD Bl dl Aclis clofl A3y 308 IaARId Afden DI o1 Yordlgror aoll anfdu 3iiv AAST BRI RasR delr AATS] ORI AR oI &
gRIfI® daed foren 3 Aelicrl cell aifde  ARNoe drRidpaisil oI vl iftberd F13il, FHelldsiiiold e aor fafér - fowRe a3l ot
IR forsurget 3 gar & siopfer o1dl Soft anfdu

ARRID PRIGAi oI A JfeiR1a dol aifdu b d of eI df, of eIl D3 AT Bel, PUT, LM, ddel, YARUI A IS 8l oo JfIAId Dol
aifdu 3iiR 31a9 IacIRIca bl Sedart aen 91 clell aifdn, SR cRadi g il PRI Josicl ar<dfd® U # fdb 3 3R et yfer Ioaiol
ApIGel 31 3 308 SHreIcil A GIRI B BRI SiiR BU 318 APIcIel B Jlolon aifde ARG BRiwAlsil o P1gn & 3ca IR AT TR D



QIcA1sal 3R AFUIYUT D fe1u /a9 PRI ool aifde Arnfore PRIGAlsil ®f RIERIRI & e, IR - AR, IS 3R clgAl bl rIfer 3R
Joolfel DI PRI Rdall AT Ioa AsIpeil UEEI, Wiign o fere ARWAI, sTararRy™ dRI - i iz oD ARG DRI 3q 6Igd slell
aifdu

What has not been advised by the author for Social Workers in the passage?

STEN9T 3 TRA® D FRI ARG DRIGAlil & fore o= o1dl s sk 3 ?

[Question ID = 1541][Question Description = S2_qSNz_PG_SWK_Q93]
1. to seek advise of others/gzRI 3 w8 clolt

[Option ID = 6161]

2. to participate in continuing education/3aq fSrem 3 1T clon
[Option ID = 6162]

3. to criticize other's work/Ri @ @RIt &l sirciido o

[Option ID = 6163]
4. to allow psychosocial and legal problems in practice/xagR 3 #oil - JAEfID vd fAfe - AR o=l B gt ot

[Option ID = 6164]

Correct Answer :-
® to seek advise of others/qRl 31 T8 ol
[Option ID = 6161]

4) Read the given passage and answer the question

Social workers should critically assess their own practices and be aware of their impact on others. They should recognize the
limits of their practice and seek the advice of other professionals if necessary in order to ensure that they work in a more
effective manner. They should also routinely review the professional literature and participate in continuing education
relevant to social work practice and social work ethics. Social workers should not allow their own personal problems,
psychological distress, legal problems to enter into professional performance.

Social workers should ensure that they do not participate in, condone or be associated with dishonesty, fraud or deception.
They should ensure and must shoulder responsibility and credit, including authorship credit, only for work they have
actually performed and to which they have contributed. They should honestly acknowledge the work and contribution made
by others. Social workers must work for the promotion and maintenance of a higher standard of education and for practice.
Social workers must uphold and advance the values, ethics, knowledge, mission and goals of the professions. They must be
open to peer learning, tolerance for criticism, innovative strategies and creative ventures.

forgsiferRae srerion @l earelyde® uféu 3iiR Yool @I 3R <IfviT ©

ARNIRIS BRIGALI B! U6t RITERI BT AATCIICIIHD Dol Bl AIf3T 3R IRI U= IoId YIa D Yfel SIPReD Bloll AIfdT 358 36l
IasR &l Hlemsii Bl usaret ol a1fdu siiz A Fforfia ol @ fore 6 a v sarer goirdlt afid A BRI B 3 R AGARID BrRIGHAL A PR
3MA9AD Bl €l ACIIE clofl BT I68 RATARID ABI DT foT=T YoII8IvT Dol 3T iR AT PRI RIABR AT AATST DRI MFRIR AR D
YRIfBI® ded foreir 3 HelicRl cell aifdu ARNRID DRIl Bl Uil Rftbold JIAL3M, Helldsiiiold eI aor fafér - fwRID a3l ot
RIGAIRID forsurcol 3 gaor ol sioafe ordl Sofl wnfdu

ARRID PRIGAis ol A6 Afei1a men aifdu b d of HeI df, of oIl B3 AT Bel, PUT, &M, ddel, YARUI A IS 8l oo AfIRId D6l
a1f3u 31z sraea JazciRica & RSediarst aen 9 Aol aifd, freaal crradkr 9 Sit BRI Joslel ardfad wu i v 3 3iiz Rerd yfer soslor
ApIGeT 31 3 308 $Hreieil A oIl D BRI SR RU 318 ABIcrer B JAlolon aifd ARMRIE BrRiwalsil o P1gn & 3ca IR AT RATGBR D
gicArsel 3R AFUIYUT D fore /a9 BRI ool aifde Arniore erRiealsil o RIaRIRI @ e, R - AR, Al 3R clgAl bl FrIfer 3R
3oolfel DI DRIA oIl AIfST Iod HsImelt siferem, Fefisn & fore AR, srarRyY™ BRI - shifer s Feica® ARG BRIt 3q seIgTd dlon
aifdu

Social Workers must participate in-

A. Fraud

B. Deception

C. Review

D. Acknowledging others
E. Reflection

Choose the correct answer from the options given below:

WAIfSIp dRrRIiwAfsil o siaed 8 sieT dolr aifdu -



A. Ba

B. enar

C. yordlgmr
D. gl ol AT Soll

E. smifrodot
ofia 3w a1 faaseul 3 A I8 IR DI RIS BRI ;@

[Question ID = 1542][Question Description = S2_qSNz_PG_SWK_Q94]
1. A, Band C only/a@aa A, B siiz C

[Option ID = 6165]

2. C,DandE only/aaea C, D 3iz E
[Option ID = 6166]

3. Band C only/dbaa B siiz C

[Option ID = 6167]
4. Aand B only/@ac A siz B

[Option ID = 6168]

Correct Answer :-
e A BandConly/daa A, B sz C
[Option ID = 6165]

5) Read the given passage and answer the question

Social workers should critically assess their own practices and be aware of their impact on others. They should recognize the
limits of their practice and seek the advice of other professionals if necessary in order to ensure that they work in a more
effective manner. They should also routinely review the professional literature and participate in continuing education
relevant to social work practice and social work ethics. Social workers should not allow their own personal problems,
psychological distress, legal problems to enter into professional performance.

Social workers should ensure that they do not participate in, condone or be associated with dishonesty, fraud or deception.
They should ensure and must shoulder responsibility and credit, including authorship credit, only for work they have
actually performed and to which they have contributed. They should honestly acknowledge the work and contribution made
by others. Social workers must work for the promotion and maintenance of a higher standard of education and for practice.
Social workers must uphold and advance the values, ethics, knowledge, mission and goals of the professions. They must be
open to peer learning, tolerance for criticism, innovative strategies and creative ventures.

forraiferRaa srerior ol earoyde ufew siiR ggot @1 3= i :

ATHISID PRIGALSI DI U6l RIIBRI DT AHICIRIGIHD HRAiDol DIl UMV 3R GIRI UR Iold> YHId B Yfel SIPReD Bloll AMST Iod U6l
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dPIGlol {31 3 308 $ATeIGRI A GIRI @ DRI 3R ST 31U ARIGIel DI Aleloll A3 AISID PRIGALI @I 18N & ITa FaR Al RGeR D
JIcATsal 3R AFUYUT & fore sraear BRI oo aifde ApnfSe ericalsil Bl waRIRI & i, ARIR - AR, SE9Y 3R el &l Frifer iz
Joolfel DI PRI ol AIfde Iod Aslbell sifeeE, Mfien @ feru ARUIAL, cTararAy® PRI - ofifel iz Faera® AR BRI 3q 3egd dloll
aifde

Given below are two statements
Statement I: Social Workers must critically examine their own practice.
Statement II: Professional practice has no limits.

In light of the above statements, choose the most appropriate answer from the options given below

ofla of @erot feu a1e 3 ¢

DG - | : APIRSID PRIGAIsI 3Tl ¥g D RIGERI DI MTCIGIICHAD UGV DI dIfide



Do - || : caanlRie *IasR &t oIS e ol aldl 3
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[Question ID = 1543][Question Description = S2_qSNz_PG_SWK_Q95]
1. Both Statement | and Statement Il are correct/erer | 3iiz |1 Qi 31t &
[Option ID = 6169]
2. Both Statement | and Statement Il are incorrect/aerer | 3ii2 || Sl srcta &
[Option ID = 6170]
3. Statement | is correct but Statement Il is incorrect/wmepol | 1 &, fvog el |l s &

[Option ID = 6171]
4. Statement | is incorrect but Statement Il is correct/@em | sric 8, fobog werer |l @t &

[Option ID = 6172]

Correct Answer :-
e Both Statement | and Statement Il are correct/aerwor | iz |l Sleil 38t &
[Option ID = 6169]

Topic:- SocialWork_SHAAN_NOV21C

1) Read the passage and answer the question given below:

It is often contended that the chief difference between a professional and a non-professional occupation lies in the element
of superior skill. The crucial distinction is this: the skills that characterize a profession flow from and are supported by a
fund of knowledge that has been organized into an internally consistent system, called a body of theory. A profession's
underlying body of theory is a system of abstract prepositions that describe in general terms the classes of phenomena
comprising the profession's focus of interest. Theory serves as a base in terms of which the professional rationalizes his/her
operations in concrete situations. Acquisition of the professional skills requires a prior or simultaneous mastery of the theory
underlying that skills. Preparation for a preoccupation with systematic theory, a feature virtually absent in the training of
two non-professionals. because the understanding of theory is so important to professional skill, preparation for a profession
must be an intellectual as well as a practical experience.

foraifeilRaa srerior @l eameIgde® uféu ik Yool @I 3R IR ¢

YRI: Ig ab a1 sidr 3 75 carnfRie siiz 31 - RaiRis RIaarT @ did 3 iR Icaar Blored @ dea 3 forfda afar 3 wisrayl ¢ a6 3
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oui¥erd alar 8 Ufp e Biorel & fére Rigia bl st Sloll 3iid Ascaqul 3, $ATT RaAr &l TR difgm o e - A1
RAGBI® 3eid dloll a1

The distinctive characteristic of a profession is:
U RIGRARI @ fafdrse apo1 3 ©

[Question ID = 1544][Question Description = S2_qSNz_PG_SWK_Q96]
1. Practical experience/=iqsii¥® sropora

[Option ID = 6176]
2. Training/yfergur
[Option ID = 6175]
3. Superior skills/3caaz diort

[Option ID = 6173]
4. Body of Theory/formrr Rigia

[Option ID = 6174]

Correct Answer :-
e Superior skills/3camR dloret

[Option ID = 6173]

2) Read the passage and answer the question given below:

It is often contended that the chief difference between a professional and a non-professional occupation lies in the element
of superior skill. The crucial distinction is this: the skills that characterize a profession flow from and are supported by a
fund of knowledge that has been organized into an internally consistent system, called a body of theory. A profession's
underlying body of theory is a system of abstract prepositions that describe in general terms the classes of phenomena
comprising the profession's focus of interest. Theory serves as a base in terms of which the professional rationalizes his/her



operations in concrete situations. Acquisition of the professional skills requires a prior or simultaneous mastery of the theory
underlying that skills. Preparation for a preoccupation with systematic theory, a feature virtually absent in the training of
two non-professionals. because the understanding of theory is so important to professional skill, preparation for a profession
must be an intellectual as well as a practical experience.

forsaiferRaa srerior ol eareydae ufee iR ggol @1 3= SIS :

YRI: I a@ a1 S 3 5 cnanfRis siiz 317 - *naaiRis RIaarT @ dia 31 iR Icaar Blore d dod 3 forfda dfar 3 Aswayut 9 a6 3

: P2l craeIrI @1 fafdrse wloret 33 sl @ SR A YA 3R AR Bl 3 ORI v 3MdlRes Wu A Fs1a yurredl # Hsifda e s 8, 34 forprr
Rigia o1 sirar 3 fpfl srairr o1 siafoifda forerr Brgia I spyd adsara=il &bt gunell il 3 it o1 uf¥acosii a5 aeif a1 ARIeT 91t 3
auietr il 3 fOrerEl U9 @ RBa @ &1 onlier A T Rigia v 3memR @ »u i orRf o 3, RRY eare 3 a gu canRes It Referl 3 sruot
Yarcioll Pl ddHsId FSolldl 3 RITGAIRID Piolell @ 3rsiol @ fore Ia1 wloredl @ siafoifda Rigia &bt usc 2 2 12 - Jrer forgurar gra @en
3Ma9AP Bl & sAfere fep=fl rairr &I Gl 3 yunetisra Rigia oI A3 siror onfiret diar 3, S/ 91k - SAraRRIs @ Yfdrgivr 3 As comieT
oJui¥erd 3Iar 8 Up IaRIIRID BioreT B fere Rigia bl ers! Slell 3iid dAscaqgul 3, SATCIT RIAAR DI TR difgd D AT - ATA
RATABIRD 3cfd Bloll aIfdu

Preparation for a profession must be-

A. Intellectual
B. Practical
C. Technical

Choose the correct answer from the options given below:

T U9 & d=ardl Biofl anfdu -

A. difg®

B. carasiivo

C. aweildl

ofid 3w o1 faseal & A AT IURITP IR BT RI6I HIRIT :

[Question ID = 1545][Question Description = S2_qSNz_PG_SWK_Q97]
1. A,Band C/A, Bz C
[Option ID = 6177]
2. Aand B only/dact A 3iiz B
[Option ID = 6178]
3. Band C only/daa B siiz C

[Option ID = 6179]
4. Cand A only/@ac A siiz C

[Option ID = 6180]

Correct Answer :-
e A, BandC/A, Bz C
[Option ID = 6177]

3) Read the passage and answer the question given below:

It is often contended that the chief difference between a professional and a non-professional occupation lies in the element
of superior skill. The crucial distinction is this: the skills that characterize a profession flow from and are supported by a
fund of knowledge that has been organized into an internally consistent system, called a body of theory. A profession's
underlying body of theory is a system of abstract prepositions that describe in general terms the classes of phenomena
comprising the profession's focus of interest. Theory serves as a base in terms of which the professional rationalizes his/her
operations in concrete situations. Acquisition of the professional skills requires a prior or simultaneous mastery of the theory
underlying that skills. Preparation for a preoccupation with systematic theory, a feature virtually absent in the training of
two non-professionals. because the understanding of theory is so important to professional skill, preparation for a profession
must be an intellectual as well as a practical experience.

forsaiferRaa srerior ol eareydes ufee 3iiR ggor @1 3= i :

YRIE: I8 ao@ $ar sirar 3 e sanarniRie 3R 31k - canRies cIaIrT & dia e 3iar Icaar wiere @ aca | forfda drar 3 sswaygef 9 A &
: Rp=il g @1 fafdrse wioret 3R Sl @ #SR A grd iR AAfRMa 3id 3 BRI v dfe® w4 A JsId guiredl 3 s1dd oo SR 8, 321 fororI
Rigia @er sirar 3 fepft caaRirn @1 siafeifda forrr Rigia 3ot spd awarail & yurrelt 2l 3 Sit o1 uf¥aconsii @ aoif a1 ABIGeRI orecl 3



aufet ot & RreEl U9 & RBa @ &1 ot A 3 Rigia v smemR & w4 i orRf o 3, PRI eare 3 q gu cnanle It Rerferl 3 sruot
JaIcToll Pl AdHoId Solldl 3 RIIGRIIRID Biorell @ 3fsiol D fe1e 3o dioredl @ sidfoifda Rigia ol uscr A ar Amer - A1 forgurar yra wet
3Ma9A® alr & sAfere it caa=irr &t Gt 3 yurreisra Rigia o1 ggfta sier onfirer drar 3, safds 91k - sananiRis @ yfdiegvr 3 as coneT
oui¥erd alar 8 Up eI Biorel & fére Rigia bl st Sloll 3icid Ascaqul 3, $ATT RaAr &l TR difgm o e - A1
RIGBI® 3eid dloll a1

Which of the following stand(s) for Professional Skills?

A. Skills require mastery of the theory.
B. Skills come from practice independent of theory.
C. Preparation for skills must be intellectual and practical.

Choose the correct answer from the options given below:

O9Iaz DIoreT @ Ader 3 forgsaferRaa i wier a1 Berer 38 & ?

A. lorell @ fere Rigia &t fergurar smagae axdt 3

B. wlore s13ar=t A e 3ld 3 w1 Rigia A Fadoq 3l 3
C. ool &t Farl difgd siiz cnasiye ol aifde

ofid o s1u feedl & A AT IWITP IR DT RI6l HIRIT :

[Question ID = 1546][Question Description = S2_qSNz_PG_SWK_Q98]
1. A,Band C/A, B3z C

[Option ID = 6181]

2. Band C only/@aet B aiiz C
[Option ID = 6182]

3. Aand C only/daer A siiz C

[Option ID = 6183]
4. A and B only/d>aet A iz B

[Option ID = 6184]

Correct Answer :-
e A, Band C/A, B3z C
[Option ID = 6181]

4) Read the passage and answer the question given below:

It is often contended that the chief difference between a professional and a non-professional occupation lies in the element
of superior skill. The crucial distinction is this: the skills that characterize a profession flow from and are supported by a
fund of knowledge that has been organized into an internally consistent system, called a body of theory. A profession's
underlying body of theory is a system of abstract prepositions that describe in general terms the classes of phenomena
comprising the profession's focus of interest. Theory serves as a base in terms of which the professional rationalizes his/her
operations in concrete situations. Acquisition of the professional skills requires a prior or simultaneous mastery of the theory
underlying that skills. Preparation for a preoccupation with systematic theory, a feature virtually absent in the training of
two non-professionals. because the understanding of theory is so important to professional skill, preparation for a profession
must be an intellectual as well as a practical experience.

fogaifeilRae srerior @l eamergde® uféu 3iik Yool @I 3R I ¢

YRI: I8 ab a1 sidr 3 75 canlRie siiz 317 - RaAiRis RIaarT @ did 31 iR Icaar dlored @ dea 3 forfda dfar 3 wisrayl ¢ a6 3

: p2ft raIrRI @1 fafdrse wloret 3A Siral @ $iSR A grd AR AAfRMa 2ld 3 BRI v sdf¥e wu A Hera guiedl # ds1fda fiewn sk 3, 33 forerr
Rigia o1 sirr 3 fpfl sra=irn o1 siafoifda forerr RBrgia Jor spyd aasarail <t el et 3 it o1 uf¥acansii & aeit o1 AwRIe 9rect 3
aufar ot & el 09 & RBa @ &1 ot A T Rigia v e & »u i Rl o 3, PRI eare 3 q gu canRes It Rerferl 3 sruot
JaIcloll Pl Adold Solldl 3 RIIGRIIRID Biorell @ 3fsiol D fe1e 3o dioredl @ sidfoifda Rigia ol uscr A ar Amer - AT forgurar yra den
9P Bler & sAfere it caazirr &t TGt 3 yurefiora Rigia o1 it sieor onfirer diar 3, safds 91k - samarniRis @ yfdregvr 3 a6 compeT
oui¥erd alar 8 Up RIaRRId BioreT & fére Rigia bl ST Sloll 3iid dAscaqgul 3, $ATIT RIAAR™ DI TR diigd D A1 - ATA
RGBT 3eid dloll a1

Given below are two statements

Statement I: Theory is a system of abstract propositions.



Statement II: A body of theory is fundamental to any profession.

In light of the above statements, choose the most appropriate answer from the options given below

il of @eret feu a1e 3 ¢

@ - | : Rigia spid as ara=il &t gonedl 8l 3
@ - |l : forpr Rigia el <Ia1r1 @1 Jet aa diar 3
JURITP Dol B 3MIelld 3, ol [Su 318 fadeul 3 A AR IWRITD IR DI TRol DIfSIT ©

[Question ID = 1547][Question Description = S2_qSNz_PG_SWK_Q99]
1. Both Statement | and Statement Il are correct/aerat | 3iiz |l Sl 28 &

[Option ID = 6185]
2. Both Statement | and Statement Il are incorrect/@erwr | 3iiz || Sloil srctd 3
[Option ID = 6186]
3. Statement | is correct but Statement Il is incorrect/wmeret | 2@t 8, fboq el |l s &

[Option ID = 6187]
4. Statement | is incorrect but Statement Il is correct/@erer | srera 8, fpog weret || 3 3

[Option ID = 6188]

Correct Answer :-
e Both Statement | and Statement Il are correct/a@eror | iz 1l Slail 318t 3
[Option ID = 6185]

5) Read the passage and answer the question given below:

It is often contended that the chief difference between a professional and a non-professional occupation lies in the element
of superior skill. The crucial distinction is this: the skills that characterize a profession flow from and are supported by a
fund of knowledge that has been organized into an internally consistent system, called a body of theory. A profession’s
underlying body of theory is a system of abstract prepositions that describe in general terms the classes of phenomena
comprising the profession's focus of interest. Theory serves as a base in terms of which the professional rationalizes his/her
operations in concrete situations. Acquisition of the professional skills requires a prior or simultaneous mastery of the theory
underlying that skills. Preparation for a preoccupation with systematic theory, a feature virtually absent in the training of
two non-professionals. because the understanding of theory is so important to professional skill, preparation for a profession
must be an intellectual as well as a practical experience.

forgaifeilRaa srerior ol earegde ufeu siiz Yool oI 3= I &

YRE: 36 @ {31 Sl 3 5 saranRies 3iiz 3R - SIaRis IR & dia #31 3iaR STaaR Blerd d dca 3 forfdd diar 3 Asrayyl 9c a6 3

: fopeft g @1 fafdrse wloret 33 T @ SRR A grd 3ii JaAfia 3id 3 ORI v e 4 A Fera guinedl 3 Js1fda s sri 8, 321 formra
Rigia @al s 3 {521l IaRIRI @1 sidfoifdd forprI Rigia 3ot 3rpd awara=il &t yurell sicit 8 Sit 3o ufacsiisii @ ol ®I AIGeA 916Gl 3
qvufol @il 3 forordt U9t & Ba & &g onfiret 1A & Rigia vep e @ U i Rl oar 3, RrRY eare 3 Rad gu cranRes Jd Refer 3 sruor
Yarcioll Bl d@dId dolldl 3 RATGAIRID Biolell @ 3rsiol @ fore Ia1 wloredl & siafoifda Rigia &bt uact A & arer - Jrer forgurdar yra weln
3MaeAd alr & sAfere fopfl iR & Gt 3 yurreisra Rigia o1 3fea sirar onfirer diar 3, s/afes 31k - saarnlRies @ yfdreivr 3 s copeT
rgquf¥erd 3la1 3 Jip cIaRnRie ®lora @ fere Rigia &l et sen s1ia dscaygul 3, sAfee caRirr &t FARl difge @ A1 - a1y
Rl 3ed dloll aifde

Given below are two statements

Statement I: Theory helps the professionals to take decisions in concrete situations.
Statement II: Practical skills have primacy as professions are all about practice.

In light of the above statements, choose the most appropriate answer from the options given below

oflar S averet feu st 3 ¢

@ - | : Rigia ad Referil 3 ool ool 3 sararnfRIopt &l AsRIdar wr &
@l - || : crasii¥e @il b gadr Bkl 3 arilfds IaARI Jeid: 3ArA A IHdferda gia
JURITP DYoll D 3D 3, ol [Gu 318 famcul 3 A AR IWITD IR DI TRIol DIfSIT ©

[Question ID = 1548][Question Description = S2_qSNz_PG_SWK_Q100]
1. Both Statement | and Statement Il are correct/aerat | 3ii2 || Gleil &8 &



[Option ID = 6189]
2. Both Statement | and Statement Il are incorrect/@erer | 3iiz |l Sloil srcteT 3

[Option ID = 6190]
3. Statement | is correct but Statement Il is incorrect/wmerer | 28l &, fovog el |l s1era &

[Option ID = 6191]
4. Statement | is incorrect but Statement Il is correct/@em | s1ci &, fpoq e |l 3@t 8

[Option ID = 6192]

Correct Answer :-
e Both Statement | and Statement Il are correct/aerer | 3iiz || Sloii & &
[Option ID = 6189]

Topic:- 05th_SET12 Shift 2_A

1
) The following table presents the percentage (%) distribution of students of UG and PG levels

in seven different colleges (A-G) In a city during the academic session 2020-21. There 1s a
total number of 52,000 students in all colleges including 27,300 students of UG level.
Based on the data in the table. answer the question .

College — wise percentage (%) of students at

College ¢ Perentage (%) of students at
UG Level PG Level
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

How many students of colleges A and F taken together are studying at UG level?

(1) 7516 (2) 8463

(3) 9127 (4) 9404

FETRa Ao U WIE H A1 Ser- 1 qeiaareEl (A-G) J fEirs @ 2020-2021 ° gaEas Hiw
IR T = (a1 faao-ufaea (%) Tea w0 2 | 27,300 JEEEE TR S 6 At
=i HETEETerl § Fel Sl i @y 52,000 2 | FHeifwa aifer § u2H 311 $ A W '

T59 T T A

A AL ¢ S 1 T (%)
q_Ei—Hld-h TR =T
7
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

A= o= o = = T v T T e e T T 2



(1) 7516 (2) 8463

(3) 9127 (4) 9404
[Question ID = 2829][Question Description = Q1_GP_Set12_S1]
1.1

[Option ID = 11313]
2.2

[Option ID = 11314]
3.3

[Option ID = 11315]
4. 4

[Option ID = 11316]
Correct Answer :-
o 1

[Option ID = 11313]

The following table presents the percentage (%) distribution of students of UG and PG levels
in seven different colleges (A-G) 1n a city during the academic session 2020-21. There 1s a
total number of 52,000 students in all colleges including 27,300 students of UG level.

Based on the data in the table. answer the question .

College — wise percentage (%) of students at

GollegBL Perentage (%) of students at
UG Level PG Level
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

Total number of students studying at PG level from the colleges B and C taken together is :

() 5601 (2) 5944

(3) 6669 (4) 7004

e wfer v we H§ A e -3 HeErEEeEl (A-G) | St w 2020-2021 | g S
ISR T = T o faaor-wiaer (%) Ted Fdi 2 | 27,300 TEEie® T h S i Wit
T HEAETE § Fel o0 i Fe 52,000 2 | R aifee 8 veT 3§ oATn W '

T T I I

qé—Hldm HIAF =
7

A 17% 8%

B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%




G 15% 17%

B @91 C Aeifa=ed § Heehir F T UF 919 Ued a6 [Enal 1 Fel He E

(1) 5601 (2) bH944

(3) 6669 4) 7004
[Question ID = 2830][Question Description = Q2_GP_Set12_S1]
1.1

[Option ID = 11317]
2.2

[Option ID = 11318]
3.3

[Option ID = 11319]
4. 4

[Option ID = 11320]
Correct Answer :-
e 1

[Option ID = 11317]

The following table presents the percentage (%) distribution of students of UG and PG levels
in seven different colleges (A-G) In a city during the academic session 2020-21. There is a
total number of 52,000 students in all colleges including 27,300 students of UG level.

Based on the data in the table. answer the question .

College — wise percentage (%) of students at

Go]lege¢ Perentage (%) of students at
UG Level PG Level
A 17% 8%
B 12% 156%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

What is the total number of UG and PG level students in the college E?

(1) 8320 (2) 7916

(3) 9116 (4) 8372

T ATl U I # A SeF- e HeiaEeE (A-G) § et w3 2020-2021 § gEEas Hi
AR T = et = faeo-ufaea (%) Tea w2 | 27,300 EEEE W OR S w6 At
=i HETEETer § Fel Sl i e 52,000 & | FeifEa aifor § u2H $en % AEE w '

T T I I

A A ¢ S 1 TiaeEar (%)

- T T
=T
A 17% 8%
12% 15%
C 11% 12%




D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

E =ors § TR S 31 e T Fel e 2 7

(1) 8320 (2) 7916
(3 9116 (4) 8372

[Question ID = 2831][Question Description = Q3_GP_Set12_S1]
1.1

[Option ID = 11321]
2.2

[Option ID = 11322]
3.3

[Option ID = 11323]
4. 4

[Option ID = 11324]
Correct Answer :-
° 1

[Option ID = 11321]

The following table presents the percentage (%) distribution of students of UG and PG levels
in seven different colleges (A-G) in a city during the academic session 2020-21. There is a
total number of 52,000 students in all colleges including 27,300 students of UG level.

Based on the data in the table. answer the question .

College — wise percentage (%) of students at

College¢ Perentage (%) of students at
UG Level PG Level
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

What is the ratio between the number of students studying at PG and UG level respectively
from the college F?

(1)  14:19 2 19:21
@ 17:21 4 19:14

Frifra aiferR o = § A S-S gEaEeE (A-G) § AEieE ' 2020-2021 F gEEEE S
HHIAHITH = & faantdar #1 faar-ufaed (%) 7 w2 | 27,300 g w6 S S At
T HEEE 0 Fel S0 i G 52,000 2 | e @i 0 UET Sl % AEE W '

TeTfageE ¢ ST 1 Tawradr (%)

EERInE ‘ HTAFER =
T
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(1) 14:19 (2y 19:21
(3) 145 21 4y 19:14

[Question ID = 2832][Question Description = Q4_GP_Set12_S1]
1.1

[Option ID = 11325]
2.2

[Option ID = 11326]
3.3

[Option ID = 11327]
4. 4

[Option ID = 11328]
Correct Answer :-
° 1

[Option ID = 11325]

The following table presents the percentage (%) distribution of students of UG and PG levels
in seven different colleges (A-G) iIn a city during the academic session 2020-21. There is a
total number of 52,000 students in all colleges including 27,300 students of UG level.

Based on the data in the table. answer the question .

College — wise percentage (%) of students at

College¢ Perentage (%) of students at
UG Level PG Level
A 17% 8%
B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

What is the ratio between the number of students studying at PG level from the college F
and the number of students studying at UG level from the college D?

1 13:19 @ 21:13
(3) 13:8 4) 19:13
TR AT U 3§ T e - ST AEiaEer (A-G) § Auiies @ 2020-2021 § gEHETEE A1

R T = e = faeo-ufaea (%) Tea w2 | 27,300 TEEEE W OF S A At
T HEAETE § Fel o0 i Fe 52,000 2 | R aifee 8 veT 3§ oATn W '



TG ¢ I i Wfawadr (%)
- FAF T =W
i

A 17% 8%

B 12% 15%
C 11% 12%
D 13% 13%
E 18% 14%
F 14% 21%
G 15% 17%

F #ziiaane™ § Sahal @ 0 Ued ad Eeniadl 6 @e sin D Seiaaed 8 qd - W w e
a1l Ternfon 1 e = &t 1 S

1 13:19 2 21:13

(3) 13:8 @ 19:13

[Question ID = 2833][Question Description = Q5_GP_Set12_S1]
1. 1

[Option ID = 11329]
2.2

[Option ID = 11330]
3.3

[Option ID = 11331]
4. 4

[Option ID = 11332]

Correct Answer :-

° 1

[Option ID = 11329]

Topic:- 05th_SET12 Shift 2_B

1) Which of these is not related to podcasting?

(1) Audio (2) Spotify
(3) Microphone (4) Microsoft excel

fr=afeafaa 3 @ =i TeHieeT @ getad 75 2 ¢

(1)  ifsar (2) witEEE
(3)  HEETEE (4) HTSHET THEE

[Question ID = 2834][Question Description = Q06_GP_Set12_S1]
1.1

[Option ID = 11333]
2.2

[Option ID = 11334]
3.3

[Option ID = 11335]
4. 4

[Option ID = 11336]
Correct Answer :-
o 1

[Option ID = 11333]



2) Identify the examples of Active learning :

(A) Students discuss. debate or brainstorm during class
(B) Students work as team on problems and projects
(C) Students engage in Inquiry based learning

(D) Students are exposed to case-based studies.

Choose the most appropriate answer from the options given below :

(1)  (A)only (2) (A). (B) and (D) only
(3) (A). (C) and (D) only {(4) (A) and (D) only

(A) w4 F o Tl ==, T s faamem e E
(B) Tl gee @ uiErEs W A % =Y ° w5 #ad f
(C) Ternefl == smanfa sifrm & o w0 B

(D) Taenefl = smanfa sremEs @ waEd 29 8
e fau U e °§ H e I I R 9A i

1)  FEE A) (2) == (A), (B) 31 (D)
(3)  FF= (A). (C) ¥ (D) @) a9 (A) 3T D)

[Question ID = 2835][Question Description = Q07_GP_Set12_S1]
1.1

[Option ID = 11337]
2.2

[Option ID = 11338]
3.3

[Option ID = 11339]
4. 4

[Option ID = 11340]
Correct Answer :-
° 1

[Option ID = 11337]

3)
According to the stages of cognitive development suggested by Piaget. the earliest period is
called as :
(1) Formal operational (2) Existential
(3) Sensori motor (4) Verbalizer

(1)  #=nes Gl (2) A= TR
(3 T (4) fFa=T afass (FaemE.)

[Question ID = 2836][Question Description = Q08_GP_Set12_S1]
1.1

[Option ID = 11341]
2.2

[Option ID = 11342]
3.3

[Option ID = 11343]
4. 4

[Option ID = 11344]
Correct Answer :-
o 1

[Option ID = 11341]



4)

Given below are two statements :

Statement I: A blended course is a traditional course of instruction incorporated with
online materials and / or Intermittent online discussion.

Statement IT : A wiki is not a representation of a collaborative tool and website where users
assigned in groups can create content collaboratively and where a teacher
can monitor their work.

In the light of the above statements, choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement I 1s incorrect
(4) Statement I 1s incorrect but Statement II 1s correct

TR FmEem? .

#u ([): w5 Fafad ooawn oF NGRS weAEA ¢ Twd siivens gl sii/wgen ahm
SETET ==l AT TS 7 |

#u (1) : Tl U8 el 39w 9 d9dEz F1 Tiae=d T9 & e SR A FEa e 'een ° A
= 51 TFA & AT el AATTF S 4 A H T

U FUA F A °, A= o 0 foweal § E weE Suge 39 1 =S i

D o ek M 2E w8 2 |

(2)  =wom I afk Il =M1 ToE & |

(3  Fum IwF 2, A Foa I ed 2 |

@ = I 2 Ty oA 58 2

[Question ID = 2837][Question Description = Q09_GP_Set12_S1]

1.1

[Option ID = 11345]
2.2

[Option ID = 11346]
3.3

[Option ID = 11347]
4. 4

[Option ID = 11348]

Correct Answer :-

e 1

[Option ID = 11345]

Modeling is a direct teaching activity that allows students to imitate from demonstration or
infer from observation, the behaviour to be learned. Identify the correct sequence for
modeling.

(A) Production

(B) Attention

(C) Motivation

(D) Retention

Choose the correct answer from the options given below :

1 A). B). ). D (2)  (B). (D). A). (©)
(3)  (©).A). D). B (4) (B). (A).(C). (D)



i U UH| Teas AT Tidta 7 Aes faenedi @ SH g SEEn S UEeE " A 9 A o

(A) I
® =
(©)
(D)  wfdam

= fau o e 9 B wE S W = i

1) @. B).(©). D (2 B.D).A.©)
3 (0. @A), D), B 4) (B). @A), (©). D
[Question ID = 2838][Question Description = Q10_GP_Set12_S1]
1. 1

[Option ID = 11349]
2.2

[Option ID = 11350]
3.3

[Option ID = 11351]
4. 4

[Option ID = 11352]
Correct Answer :-
e 1

[Option ID = 11349]

6)
A prediction regarding ‘relationships involving theoretical constructs’ is known as :
(1) Directional hypothesis (2) Relational hypothesis
(3 Conceptual hypothesis (4) Operational hypothesis

“Hrgifemr Fflf = eel’ % qaigEE P = § S S

(1)  TEomweF WeheH (2) HITIH TR
(3)  TECTATIE TR (4) vETEHESH] T

[Question ID = 2839][Question Description = Q11_GP_Set12_S1]
1.1

[Option ID = 11353]
2.2

[Option ID = 11354]
3.3

[Option ID = 11355]
4. 4

[Option ID = 11356]
Correct Answer :-
o 1

[Option ID = 11353]

7)
A variable not described by a predictor is called :
(1) Exogenous variable (2) Non-Predictive variable
(3 Effect variable (4) Manipulative variable

T . P - &£



L) Hlmald = (&) TR O YdsndHIcH = =
(3) wwWE = (4) FETE =
[Question ID = 2840][Question Description = Q12_GP_Set12_S1]
1.1

[Option ID = 11357]
2.2

[Option ID = 11358]
3.3

[Option ID = 11359]
4. 4

[Option ID = 11360]
Correct Answer :-
e 1

[Option ID = 11357]

8) The ethical considerations in research include :
(A) Free copying from books and journals
(B) Informed consent
(C)  Avoiding plagiarism
(D)  Proper referencing
(E) Privacy as an insignificant issue
Choose the correct answer from the options given below :
(1) (A). (B). (C) only (2) (B).(C). (D) only
(3) (C). (D), (E) only (4) (A). (D). (E) only

(A)  TEH 9 IR H gl T H

(B)  IfEw F=Ald

(C)  =fafea= =i & s=
(D)  3faa i
(B) froa-v# T 5=4 q231

i Tau 7o fpeai | 9 gE 3 F 999 i

(1) A= (A). (B). (C) (2) a4 (B). (C), (D)
(3) === (C). (D), (E) @ =+ (A). (D), (B)

[Question ID = 2841][Question Description = Q13_GP_Set12_S1]
1.1

[Option ID = 11361]
2.2

[Option ID = 11362]
3.3

[Option ID = 11363]
4. 4

[Option ID = 11364]
Correct Answer :-
° 1

[Option ID = 11361]



Given below are two statements :

Statement I: Reflexivity refers to the manner in which speech and action are part of the

social world in which they are situated.

Statement II: The term ‘reflexivity’ 1s a slippery concept because of For and against’

arguments, and also because of different meanings.
In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement I1 are false

(3) Statement I is true but Statement II is false

(4 Statement I is false but Statement I 1= true

= 3w ffu u £

FoA () :  TarwAeda (RrefFafad) w1 56 39 Gf = 2 T g 3 T 33 st sfmr 5 o

2 fogd 4 safem 2
9 (II) : WG OF [HEeE 99 el & AR THE U4 F U@ =M1 W Gk O B AR

Toa—Tig 19 o 3

TUE FYA F AE 9, A= 6 T e § 9 HE I 9 i
(1) [ L3 M =H 51 & |

(2) w IR [ %6 7 |

(3) w19 7, =T e I oteeT =

(4) T I 90T &, wifd F99 [1 5 7 |

[Question ID = 2842][Question Description = Q14_GP_Set12_S1]
1.1

[Option ID = 11365]
2.2

[Option ID = 11366]
3.3

[Option ID = 11367]
4. 4

[Option ID = 11368]

Correct Answer :-
e 1

[Option ID = 11365]

10)

Match List T with List IT :
ListI List IT
Statistical test Application
(A) Chi- square (I) 1Is used to determine the significance

between group means.

Yy + _ Yoot P(TTH N, e S e e e TRl S SR e et T e et
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into twoe or more independent
variables.

(C) ANOVA (III) Analyses the relationship between two
or more independent variables and a
single dependent variable.

(D) Multiple regression (IV) Produces a walue that reflects the
relationship between expected and
observed frequencies.

Choose the correct answer from the options given below :

1) (A)-D. (B)-ID. (C)-(IID. (D)-(IV)
(2 A-dD. (B)-ID. (C)-IV), (D)D)
(3)  (A)-ID. (B)-(IV), (O)-1). (D)-(ID)
4 A-IV). B)-M. (C)-(ID). (D)-(IIT)

ol-1 1 G-I & gAfea i
7= il

aferdm wiem ST
(A) 7 T (Chi— square) (D) sE# TETT HEE WISAAT h HEA % Weed
B t= D fafaaar = 3 T sAfa® w=aa =0 7 faEia
(C) T (ANOVA) (I =1 = =Afees = =0 HT T W W w

= TEY F e w2

(D) = WA (IV) TH go9 il e AT B A efaa J uiEa
J= fz2 ™ e § @ w1 R gf

(L (A)-D). (B)-(ID), (C)-1L). (D)-(IV)

(2) (A)-(ID). (B)-(I1I). (C)-(IV), (D)-(D)

(3) (A)-11ID). (B)-(IV), (O)-(). (D)-AD)

4 (A)-@V). (B)-(D). (C)-(I1). (D)-(I1I)
[Question ID = 2843][Question Description = Q15_GP_Set12_S1]
1.1

[Option ID = 11369]
2.2

[Option ID = 11370]
3.3

[Option ID = 11371]
4. 4

[Option ID = 11372]

Correct Answer :-

e 1

[Option ID = 11369]

‘Do not expect to have everyvthing buttoned up in your mind before hand’. This is very much
true in the context of :

(1) Article writing (2) Delivery of speech
(3) Conducting on interview (4) Supplying backeround information

‘U=el T B A fenm | mft A1 % wrgatad B4 7 sen 59 w@r |
77 s wea H fereger R 71

(1) g == (2) Ao A

(3) =T o (4 JEgHE gAY ITEE A



[Question ID = 2844][Question Description = Q16_GP_Set12_S1]
1.1

[Option ID = 11373]
2.2

[Option ID = 11374]
3.3

[Option ID = 11375]
4. 4

[Option ID = 11376]

Correct Answer :-

e 1

[Option ID = 11373]

A persuasion plan of an educational communicator involves :
(A) Sequencing of 1deas

(B) Repeated emphasis

(C) Choice of words

(D) Reference line

(E) Personalisation of issues

Choose the correct answer from the options given below :
(1)  (A).(C). (D) only (2) (A). (B). (C) only
(3)  (B). (C). (D) only 4) (C). (D). (E) only

T [T =R T ToAE T | Aftd
&)  fommi F Aoim

(B)  THET

(C) ==l F I

(D) == wEr

(E)  S9=aisA] w0 dafaasan

i fau o fapei | @ wE SR W == Fif
(1)  F== (A). (C) * (D) (@) FA (A). (B) 3 ()
(3)  Fa= (B). (C) 377 (D) (4) Faw (C). (D) =T (E)

[Question ID = 2845][Question Description = Q17_GP_Set12_S1]
1. 1

[Option ID = 11377]
2.2

[Option ID = 11378]
3.3

[Option ID = 11379]
4. 4

[Option ID = 11380]

Correct Answer :-

e 1

[Option ID = 11377]

Given below are two statements :

Statement I: Frames can be a causal factor in decoding educational information.



Statement IT: The social background of the learners also influences their frames.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement Il are true
(2) Both Statement I and Statement Il are false
(3) Statement I is true but Statement IT 1s false

(4) Statement I is false but Statement IT is true

= 21 e fr

Fom (I) : et FEN1eT % F2aR | T (FH) TF SHTEE 0 5 g |

FyA (ID) :  Foremedi =i arfors geyf ot geigan (F9) #0 i wafad w2

IULRE U 6 A H, A9 58 T Gl 3 8 HE 36 1 =99 i
(1) =wEIARTIIEA 92 |

(2) = I 3R I 3M a9 2 |

(3) I EA 7, ST e 1L 9ET 2 |

(4) w9 [ 35 2, @i wue [ & 2 |

[Question ID = 2846][Question Description = Q18_GP_Set12_S1]
1. 1

[Option ID = 11381]
2.2

[Option ID = 11382]
3.3

[Option ID = 11383]
4. 4

[Option ID = 11384]

Correct Answer :-

e 1

[Option ID = 11381]

The sequence of steps in organizing written material for communication is :
(A) Read over

(B) Evaluate

(C) Jot down points

(D) Construct an outline

(E) Describe

Choose the correct answer from the options given below :



(1) (A). (B). (C). (D). (E) (2) (©). A). (B). (D). (E)

(3  (C). (D). (A). (E). (B) @  B. @ ). D). E).(C)

A =-73 (T a7
B) T

(C) T Tamgam =i T
(D) =9 1@l =

(E) =90 F

= fau 7 fawet 4 & @@ 3w == Hif

(1 (A). (B). (C), (D). (E) (2) (O. @), (B). (D). (E)
3 (C). D). A (E). (B) @) (B). (&), D). (E). (O

[Question ID = 2847][Question Description = Q19_GP_Set12_S1]
1.1

[Option ID = 11385]
2.2

[Option ID = 11386]
3.3

[Option ID = 11387]
4. 4

[Option ID = 11388]
Correct Answer :-
° 1

[Option ID = 11385]

) Match List I with List IT :
ListI List II
Models of communication Characteristic feature
(A) Mathematical model (I) Perceiving
(B) Circular model (II) Global village concept
(C) Medium — centric model (III) Linear
(D) Selectivity model (IV) Decoder becomes encoder

Choose the correct answer from the options given below :

1) (A)-D), (B)-IV), (O)-(). (D)-(AIL)
@ A1V (B)-D. (O)-(I1D). (D)-0T)
3 (A)-D. B)-1I). (C)-II), (D)-IV)
4 (A)-ID. (B)-(IV), (C)-aD). (D)-(D

T=-1 % Ty g1-I1 = e it

71 11
(A) i afaEe @ 39T F

(B) =g TaEE aIn fra-um =TT



(C) wr=m—hfga Tiaa™ {ID) T
(D) == FaAE (IV) FefHutar Faes o9 54 ¢ |
Fr= fau v famet § @ wE IR w9 fif
1) A-ID. B)-IV), (O)-1). (D)-IID
2 A)-IV), B)-0). (C)-I1D). (D)-1D
(3)  (AD. B)-ID. (C)-II), (D)-(IV)
(4) (A0, B)-IV), (O)-(ID). (D)-(D)

[Question ID = 2848][Question Description = Q20_GP_Set12_S1]
1.1

[Option ID = 11389]
2.2

[Option ID = 11390]
3.3

[Option ID = 11391]
4. 4

[Option ID = 11392]
Correct Answer :-
e 1

[Option ID = 11389]

Six bells commence tolling together and toll at intervals of 2, 4, 6, 8, 10 and 12 seconds
respectively. In 30 minutes, how many times do they toll together?

(1 4 2 10
(3 16 @ 20

T: HieAl TRel UH WY ST IE HA & 6 A9k 2, 4, 6, 8, 10 3R 12 s % e W oAl # |
AT 30 foe | 9 v |9 T an ws e
(1) 4 (2y 10
(3) 16 (4 20
[Question ID = 2849][Question Description = Q21_GP_Set12_S1]
1.1

[Option ID = 11393]
2.2

[Option ID = 11394]
3.3

[Option ID = 11395]
4. 4

[Option ID = 11396]

Correct Answer :-
e 1

[Option ID = 11393]

Cost price of two mobilephones is same. One is sold at a profit of 30% and the other for
6300 more than the first. If the net profit is 40%. Find the cost price of each mobile.

(1) 42.500 (2) 50.000
(3) 25,500 (4) 31.500

1 HiTEe # FAYeA FAM 7 | TH W 30% @0 G Sw= T 30 ZE F GEed 8 5. 6,300/ S FHG W

ST AT | AW FeA o9 40% 7 91 T WEEe 5 wAged 76 8

(1)  42.500/- (2) 50.000/-
(3)  25.500/- (4)  31.500/-

[Question ID = 2850][Question Description = Q22_GP_Set12_S1]
1.1

[Option ID = 11397]



2.2

[Option ID = 11398]
3.3

[Option ID = 11399]
4. 4

[Option ID = 11400]

Correct Answer :-
o 1

[Option ID = 11397]

Consider the following statements regarding clocks :
(A) When the hands are in opposite directions, they are 30 minute spaces apart.

(B) The hands are in same straight line when they are co incident or opposite to each
other.

(C) If a clock indicates 8:45, when the correct time is 9:00. it 1s said to be 15 minutes too
fast.

Choose the correct statements from above :
(1) (A) and (C) only (2) (B)and (C) only

(3)  (A) and (B) only (4) (A). (B) and (C)

Hisal % H9y o Fleiigd HUEl W faEn i

(A) @ g=AT vF gE © fawia e | =l 2, 3 30 foee % st i g o oEe F |
(B) W AT v TAF Hid T | 26l 2 4 41 A 9 OF @ w2 A U gad % faeda w5 A |

(C)  oFF %7 91 8 : 45 o5 F1 TF 29l 2 317 Wel @ 9 : 00 9901 & a1 9% 15 fide == o =

W f2u U fawel § ° " I 1 99 HiA0

(1) FAa (A) 3 (C) (2) Faa B) 3 (O)

(3)  Faw (A) 3R (B) @ (4. (B) ¥ (O)
[Question ID = 2851][Question Description = Q23_GP_Set12_51]

1.1

[Option ID = 11401]
2.2

[Option ID = 11402]
3.3

[Option ID = 11403]
4. 4

[Option ID = 11404]
Correct Answer :-
° 1

[Option ID = 11401]

19 ; :
) In how many years will a sum of 800 at 10% per annum compounded semi annually become
926.107
(1) 5/2 years (2) 3/2 years
(3) 2/3 years (4) 4/3 years

Tore =t 5 %, 800/- =1 19T 10% Ui =, e =wafs = $1 2% 8 5. 926.10 =7 =i ?

1% E M0 = O T
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[Question ID = 2852][Question Description = Q24_GP_Set12_S1]
1.1

[Option ID = 11405]
2.2

[Option ID = 11406]
3.3

[Option ID = 11407]
4. 4

[Option ID = 11408]

Correct Answer :-
e 1

[Option ID = 11405]

Given below are two statements :
Statement I: If a person covers a certain distance at x kmph and an equal distance at

y kmph. Then. the average speed during the whole journey is [J;+ Y ]kmph.

Statement IT : If the ratio of the speeds of X and v 1s a:b, then the ratio of the respective
time taken by them to cover the same distance is b:a.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3 Statement I is true but Statement IT is false
(4) Statement I 1s false but Statement II is true

FoF (I): IR TF =0 v Head @ ox FAL/F fi w3 @ o 2 oeR mme gl oW

y o fo, i 6 TR, o A st [x;y]%.ﬁw. o 3
XY

Fod (II) : R x 310 y F1 7d F1 37994 a : b 2, 71 F69F 0 1 797 7 5 I 3R 0 10 FH =
FMEb:a? |
ITIT HUH AR H, = 20 0 e | ° "9 39 # =99 Hi
(1) FWEIAROIAEFE |
(2 w9 3R 39 5 & |
(3) W [od 7, wiHT we 11 550 2 |
(4) w15 7, =i e a2
[Question ID = 2853][Question Description = Q25_GP_Set12_S1]

1.1

[Option ID = 11409]
2.2

[Option ID = 11410]
3.3

[Option ID = 11411]
4. 4

[Option ID = 11412]
Correct Answer :-
e 1

[Option ID = 11409]



21 . . . ..
) “Environmentalists accuse us of blocking the plan to convert Antartica into a World park. In

fact nothing could be further from the truth. Antartica 1s a huge continent teeming with life.
It is home to millions of penguins. seals, seabirds and sea lions. Also great schools of finfish
and whales inhabit its coastal waters.”

Which fallacy is committed in the above argument?

(1) Red Herring (2) Strawman

(3) Hasty generalization (4) Slippery slope

‘AR B SRR ﬁﬁw—ﬂﬂnuﬁqﬁﬂwﬁmﬂmﬂm?ﬂﬁl arag o THd
mﬁmquﬁﬂmlmiﬁﬂnmﬁﬁwmﬁ. n|=rc—«mmmr$=n
i, FE-Tial 3R FAteE 1 W 2 | 9E-TSl 3R S B UF 951 F9EE IHE aiE we ° Hae
AR |

ITEFT IfFd § FA-TT BT TI A B 7
1 = @ =W
3 = TR (4 f=h =

[Question ID = 2854][Question Description = Q26_GP_Set12_S1]
1. 1

[Option ID = 11413]
2.2

[Option ID = 11414]
3.3

[Option ID = 11415]
4. 4

[Option ID = 11416]
Correct Answer :-
e 1

[Option ID = 11413]

Consider the series “tiger, feline, mammal, animal®. Which of the following statement/s
is/are true with reference to this series?

(A) It 1s in order of increasing intension

(B) It is in order of increasing extension

(C) It is in order of decreasing intension

(D) It is in order of decreasing extension

Choose the correct answer from the options given below :

(1) (A and (D) only (2) (B)only
(3) (B) and (C) only (4) (D) only

e, faem, wEAE, T T gEen W faan i ok sae F m geen & el § fFeiea 5 1
T U T A7

(A)  TETE F AT A AR

B) TATASaAFAHE|

(C) F=7Tmd Haed FAHE |

(D) 9% =1 % Hed HA 4 7 |
4/ fzu o e | © 99 I W 999 e

(1) & (A) 31k (D) @ F9 (B)

(3) == (B) ¥ (C) (4) === (D)
[Question ID = 2855][Question Description = Q27_GP_Set12_S1]
1.1

[Option ID = 11417]
2.2

[Option ID = 11418]



3.3

[Option ID = 11419]
4. 4

[Option ID = 11420]

Correct Answer :-

e 1

[Option ID = 11417]

Given below are two statements :

Statement I: The example (udaharan) is a special feature of the Nyaya syllogiam and it
lustrates the truth that the universal major premise 1s the result of a real
induction.

Statement II : Induction in Nyaya conception of inference is based on the law of causation
and induction and deduction cannot really be separated.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement IT are true
(2) Both Statement I and Statement II are false
(3) Statement I is true but Statement IT is false
(4) Statement I is false but Statement II is true

e F Rr T B

Fo (I):  =E-ARA F RN EEEE SEE 2 30 4w 39 Hed R SiEE O w2 6 g

T TR =] AT e HATTHA %7 9oy 2 |

Fod (ID) : 38 F1 =0 Faaron § S EEA FE-FE0 99 F S O S S S s
9= = HE Al | SR AE] R S T 2

TUEF FIF F A 5, 94 & T fGwen § ¥ 58 39 % 99 i

(1) o L Iam 5o 2 |
2w I HAR I3 55 2 |
(3) w9 1= 7, vt 59 1L 98 7 |
(4) e I 5Eea , v e [ aeT 2 |

[Question ID = 2856][Question Description = Q28_GP_Set12_S1]
1.1

[Option ID = 11421]
2.2

[Option ID = 11422]
3.3

[Option ID = 11423]
4. 4

[Option ID = 11424]

Correct Answer :-

e 1

[Option ID = 11421]

Given below are two statements :
Statement I: An argument form that allows for a substitution Instance having true
premises and a false conclusion is an invalid form.

Statement IT : Any arguments having true premises and a false conclusion 1s an invalid
argument.

In the light of the above statements, choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2) Both Statement I and Statement IT are false
(3) Statement I 1s true but Statement IT is false
(4) Statement I 1s false but Statement IT is true

= 3w oo E

Fo (I): U Jfad TEY T UH TEEE W OATA 301 7 e 50 s e 3 w5690 e e
Ho (ID) :  UHi i T weT Aran T 997 wue o =21, o w14y g6 2|

IUE FIA * AAF §, A= fE T famea) § O 5E I F 99 HIiA



(1) =wEIsIIsmaaE |

(2) A I3 I 2H /8 7 |

(3) FHITA 2, o 70 I 3HT 7

(4) w9 I wEea 2, =T wa [ H 2
[Question ID = 2857][Question Description = Q29_GP_Set12_S1]
1.1

[Option ID = 11425]
2.2

[Option ID = 11426]
3.3

[Option ID = 11427]
4. 4

[Option ID = 11428]

Correct Answer :-
e 1

[Option ID = 11425]

All animals with such and such features are either bisons or buffalos.
This animal has those features and it is not a bison. Therefore it 1s a buffalo.

According to Nyaya school thiz argument exemplifies which one of the following pramanas

(instrument of knowledge)?
(1) Upamana (Comparison) (2) Sabda (Verbal authority)

(3) Arthapatti (Postulation) (4) Anumana (inference)

-39 sl % WY R SEE 1 a1 TEE B A A |

=0 T F U 9 A § 31 9% 79 99 2 oA 98 2t 2 |

=T A % FFEN AR A(FA ZE g1 S § H e JE (S S0 F A £

@ FE (2) W=
(3)  wTgmmT (4) A

[Question ID = 2858][Question Description = Q30_GP_Set12_S1]
1.1

[Option ID = 11429]
2.2

[Option ID = 11430]
3.3

[Option ID = 11431]
4. 4

[Option ID = 11432]

Correct Answer :-
o 1

[Option ID = 11429]

The Campus Wide Network in a University includes a firewall. Which one of the following is

a firewall used for?

(1) Deleting data from a network
(2) Restricting access to a network
(3 Encrvpting network data

(4) Collecting transactional data
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[Question ID = 2859][Question Description = Q31_GP_Set12_S1]
1.1

[Option ID = 11433]
2.2

[Option ID = 11434]
3.3

[Option ID = 11435]
4. 4

[Option ID = 11436]

Correct Answer :-
° 1

[Option ID = 11433]

Given below are two statements : One is labelled as Assertion (A) and the other is labelled as
Reason (R) :

Assertion (A): A bitmap file format (.BMP) 1s not suitable for graphics on a website.

Reason (R) : Bitmap graphics store information about every individual picture element

(pixel) making up an image, thereby giving quite large files.

In the light of the above statements, choose the correct answer from the options given below :

(1) Both (A) and (R) are true and (R) is the correct explanation of (A)
(2) Both (A) and (R) are true but (R) is NOT the correct explanation of (4)
(3) (A) 1s true but (R) is false

(4) (A) 1s false but (R) is true

= 9 A o w2 w st (AsserﬁonA}%EﬂﬁfFlﬁﬁﬂ%ﬁ?@W?ﬂ%W (Reason R) %

A (A) : F foeiy e e (sf.undl. ) aewse o mieen  fon sugs 78 7 |
FR0T (R) : faztn miewm e el o ofadz (frege) = o1 3 Sl ohkE i 2

UF THA S 5, fAEd 95 WEd a9 2 |

YT FYA F AA® °, 99 A0 T famen § ¥ we S 6t 1 =95 i

@D (A R ®) 3 FA £ AR R). (A) = = R

@ (A ¥ R) 3 FA 7 A0 R). (A) F FE = H R
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[Question ID = 2860][Question Description = Q32_GP_Set12_S1]
1.1

[Option ID = 11437]
2.2

[Option ID = 11438]
3.3

[Option ID = 11439]
4. 4

[Option ID = 11440]

Correct Answer :-
e 1

[Option ID = 11437]

Identify the correct order of the following computer storage devices in order of speed of data
retrieval from fastest to slowest.

(A) Hard Dick

(B) Main Memory

(C) CD-ROM

Choose the correct answer from the options given below :

1) (B).(O).A) 2) (©).@A).®
(3 (A O3B 4 (B).A).©)

oo 49§ Hed dW <2 ftzae i 1fd % #m d Fefafias 2ie feaew (o) Fowd wm ow
@& FE T

®B)

(C) HiE. sy

= fav o faweal | O TE 3 99 i

1 (B).O). W 2 (0.A).®
(3) (A (C). (B 4 (B).(A). (O

[Question ID = 2861][Question Description = Q33_GP_Set12_S1]
1. 1

[Option ID = 11441]
2.2

[Option ID = 11442]
3.3

[Option ID = 11443]
4. 4

[Option ID = 11444]

Correct Answer :-
e 1

[Option ID = 11441]

Given below are two statements :

Statement I: A copy of the email is sent to a Ce (Carbon copy) address and other recipients
can see that address.

Statement IT: A copy of the email 1s sent to a Bee (Blind carbon copy) address but other
reciplents cannot see that address.

In the light of the above statements. choose the correct answer from the options given below :
(1) Both Statement I and Statement II are true
(2 Both Statement I and Statement IT are false
(3) Statement I is true but Statement II is false
(4) Statement I is false but Statement IT is true
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[Question ID = 2862][Question Description = Q34_GP_Set12_S1]
1.1

[Option ID = 11445]
2.2

[Option ID = 11446]
3.3

[Option ID = 11447]
4. 4

[Option ID = 11448]
Correct Answer :-
e 1

[Option ID = 11445]

30) Which of the following file format contains exclusively the ASCII file format?
(A) PDF
(B) RTF
(C) JPG
(D) CSV
(E) TXT

Choose the correct answer from the options given below :

i) (A). (B) and (D) only (2) (B). (D) and E only

3 (A). (C) and D only (4) (C), (D) and E only

Tr=Atetiga 9 ° $F 59 b [=99aT U uE =i, AT AT, e FiHe 1A 27

=]

A) s
B) AU,

(C) = .dy=

(E)y FAwmA.

+r= 2 T foem 9 9 9 S 9= il



(1) === (A), (B) ¥ (D) (2) == (B). (D) #R (E)
(3) Fa4 (A). (C) 3t (D) @) F99 (C). (D) ¥R (E)

[Question ID = 2863][Question Description = Q35_GP_Set12_S1]
1.1

[Option ID = 11449]
2.2

[Option ID = 11450]
3.3

[Option ID = 11451]
4. 4

[Option ID = 11452]

Correct Answer :-
e 1

[Option ID = 11449]

Millennium Development Goal 8 — “To develop global partnership for development’ has the

following targets :

(A) To address special needs of least developed countries.

(B) To halve by 2015 the proportion of population without sustainable access to safe

drinking water and basic sanitation.
(C) To deal exhaustively with debt problem of developing nations.

(D)  To provide access to affordable essential drugs in developing world in collaboration

with private sector.

(E) To have significant improvement in the lives of 100 mn slum dwellers.

Choose the correct answer from the optlons given below :
(1) (A (C). (D). (E) only (2) (A (C). (D) only
(3)  (C). (D). (E) only (4) (B). (D), (E) only

wrarss! o we-8- ‘T 2q Afvas wrgedl fasfaa o % feafatay a7

(A)  T=E F9 fawiad Su =i 9 SAEranas W o |

(B) 2015 7, TF 99 T 3 G Foadl aF AUV Tod & 59 T & S 76 F6|
(C)  Tommsfict goi it F=t F omen $ W a2 TH W HER F

AT .

D) = & % T o el g § 2 o 99 AeEvEs 2 99 Ted TeH F |

(E) 100 faferm gt farfaat = <fea 4 geeege gar = |

= f3u o fareT 5 O O 39 F == i

(1)  F= (A). (O). (D). (E) (2) Fa (A). (C). (D)

(3) F== (0). D). (B) 4) == (B). (D). (E)
[Question ID = 2864][Question Description = Q36_GP_Set12_51]

1.1

[Option ID = 11453]



2.2

[Option ID = 11454]
3.3

[Option ID = 11455]
4. 4

[Option ID = 11456]

Correct Answer :-
o 1

[Option ID = 11453]

Ozone layer depletion 1s on account of :

(A) Chlorinated hydrocarbens
(B) Sulphur containing compounds
(C) Carbon monoxide

(D)  Nitrogen containing fertilizers

Choose the correct answer from the options given below :

(1) (&) (C). (D) only (2) ). ®B). (). D)
(3) (A (B).(C) only (49) (A). (D) only

(A)  FAMHEE FTEgHEA

(B) TR I AH

(C)  =Is HHFATSS

(D) ATz T I

Hra 30 U fameal 9 © HE S B == A

1) FTAALOFAD (D (A), B (C) T (D)
(3) FAAA). B)IR(C) (4 T (A) 3 (D)
[Question ID = 2865][Question Description = Q37_GP_Set12_S1]

1.1

[Option ID = 11457]
2.2

[Option ID = 11458]
3.3

[Option ID = 11459]
4. 4

[Option ID = 11460]

Correct Answer :-

e 1

[Option ID = 11457]

33) High values of which of the following parameters indicate good-quality water?

(1) Dissolved oxygen (DO) (2) Chemiecal oxygen Demand (COD)
(3) Biochemical oxygen Demand (BOD) (4) Conductivity

Freaferfa ot 4 & fFm % 3== g s 1 =21 e giem i 2

(1) g0 g0 A (feieas wia=m) (2) e A fears (H.aE)

(3)  wEiHEwe s feare (dfand) (4) =TT



[Question ID = 2866][Question Description = Q38_GP_Set12_S1]
1.1

[Option ID = 11461]
2.2

[Option ID = 11462]
3.3

[Option ID = 11463]
4. 4

[Option ID = 11464]

Correct Answer :-

e 1

[Option ID = 11461]

Arrange the following solar cell base materials in order of their Band gap energy :
(A) Silicon (Si)
(B) Germanium (Ge)

(C) Gallium Arsenide (Ga As)
(D) Cadmium Sulphide (CdS)

Choose the correct answer from the options given below :

1 A=B=D)=(©) 2 A=>®=©0C=D
3 M=) =@A=®d @ @M=@=(©)=®

frfafas Aen o= 99 wiee (On FIEE snaiEed) F 39 43 79 U9 6 W W OSIE ey
T‘ﬁﬁq:

(A  fafe=sE (S))

(B) FHPH (Ge)

(C)  fiferm =1H1Es (Ga As)
(D)  FsfEm geFEs (CdS)

fr= fau o faweT 8§ T I W == i

(1  (A)=@B =D =(C) 2) A@=®=(C)=>D)
3 (D=(C)=A)=>(B) 4 @D=(@A)=(C)=(B)

[Question ID = 2867][Question Description = Q39_GP_Set12_S1]
1.1

[Option ID = 11465]
2.2

[Option ID = 11466]
3.3

[Option ID = 11467]
4. 4

[Option ID = 11468]

Correct Answer :-
e 1
[Option ID = 11465]

The National water mission under climate Action plan of Government of India seeks to
improve water use efficiency by :

(1) 10% (2) 20%



(3) ol (4) oU%

A TR % FeEr B A Ad TP Fel (HE, Fel WA gl PIGHG]
U T 2 |

1 10% @ 20%

(3)  30% 4 50%

[Question ID = 2868][Question Description = Q40_GP_Set12_S1]
1.1

[Option ID = 11469]
2.2

[Option ID = 11470]
3.3

[Option ID = 11471]
4. 4

[Option ID = 11472]
Correct Answer :-
e 1

[Option ID = 11469]

36
) Who 1s the Visitor of all the Central Universities?
(1) Education Minister of India (2) UGC chairman
(3) The President of India (4) The Chief Justice of India

i Fgg Tavafmem w1 gerean (fafe) $@ 27

(1)  9a = T (2) 7 & semE
(3)  wrdA = Tgdla (4) 9FA F 9IH =
[Question ID = 2869][Question Description = Q41_GP_Set12_S1]

1.1

[Option ID = 11473]
2.2

[Option ID = 11474]
3.3

[Option ID = 11475]
4. 4

[Option ID = 11476]
Correct Answer :-
o 1

[Option ID = 11473]

37) Given below are two statements :

Statement I: TUGC has been established by an act of Indian parliament to regulate the
guality of higher education.

Statement II: The executive council of a Central University 1s empowered to decide the

minimum qualification for the recruitment of the faculty.

In the light of the above statements. choose the most appropriate answer from the options
given below :

(1) Both Statement I and Statement I are correct
(2) Both Statement I and Statement IT are incorrect
(3) Statement I is correct but Statement IT 1= incorrect

(4 Statement I 1s incorrect but Statement II is correct
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[Question ID = 2870][Question Description = Q42_GP_Set12_S1]
1.1

[Option ID = 11477]
2.2

[Option ID = 11478]
3.3

[Option ID = 11479]
4. 4

[Option ID = 11480]
Correct Answer :-
° 1

[Option ID = 11477]

38) . : . .
Given below are two statements : One is labelled as Assertion (A) and the other 1s labelled as
Reason (R) :
Assertion (A): The Central Government of our country is trying to increase access to
higher education.
Reason (R) : The public-funded universities and colleges can accommodate only a

limited number of students.

In the light of the above statements. choose the most appropriate answer from the options

given below :

(1) Both (A) and (R) are correct and (R) is the correct explanation of (A)
(2) Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A)
(3) (A) 18 correct but (R) 1s not correct

(4) (A) is not correct but (R) is correct

= 7w fou W™ E . v sl {Assertion;&)%mﬁf?lﬁﬁﬁ%ﬁ?mi. 7% F0l (Reason R) +
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[Question ID = 2871][Question Description = Q43_GP_Set12_S1]

1.1

[Option ID = 11481]
2.2

[Option ID = 11482]
3.3

[Option ID = 11483]
4. 4

[Option ID = 11484]

Correct Answer :-
o 1

[Option ID = 11481]

Given below are two statements :

Statement I: As per the preamable to the constitution, India 1s a secular country.

Statement IT : Setting up educational institutions by religious minority communities is

against the constitution.

In the light of the above statements. choose the correct answer from the options given below :

(1) Both Statement I and Statement II are correct

(2) Both Statement I and Statement II are incorrect
(3) Statement I 1s correct but Statement IT 1s incorrect
(4) Statement I is incorrect but Statement II is correct

= 3 e ffr e E

w9 ([):  HiEUE F TEEE F SN, I O gHe 29 2
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[Question ID = 2872][Question Description = Q44_GP_Set12_S1]
1. 1

[Option ID = 11485]
2.2

[Option ID = 11486]
3.3

[Option ID = 11487]
4. 4

[Option ID = 11488]
Correct Answer :-
o 1

[Option ID = 11485]

Match List I with List IT

ListI List IT
(A) UGC (I Medicine
(B) AICTE (I) Teacher Education
(C) NCTE (ITIT) General Education
(D) MCI (IV) Technical Education

Choose the correct answer from the options given below :

(1 A-ID. (B)-ID). (O)-(D. (D)-IV)
(2 @-D. B)-ID. (O)-aV). (D)-(IID)
(3) (A1), B)-IV), (O)-dD. D)-D
4  A-IV). B)-1). (C)-(ID). (D)-ID)

-1 % Tg G-I 1 faems Fifaw

i1 Il

CVIE ] @O Tafwe

(B) TaEHAE (D) == e
(C) mHEas (III) == e
(D) = = e (IV) T fae

Fr= fzu v fameat 2 @ wE SR w9 Fife

(1) @-ID. B)-D. (O)-D. (D)-IV)
(2)  @-D. (B)-1D. (C)-aV). (D)-(IID)
(3)  (A)-IID. (B)-(IV), (C)-0D). (D)-(D)
(4  A-IV), B)-@). (C)-(1ID). (D)-ID)

[Question ID = 2873][Question Description = Q45_GP_Set12_S1]
1.1



[Option ID = 11489]
2.2

[Option ID = 11490]
3.3

[Option ID = 11491]
4. 4

[Option ID = 11492]

Correct Answer :-

e 1

[Option ID = 11489]

Topic:- 05th_SET12 Shift 2_C

R Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged, when teachers, people in
authority or even the general public come 1n contact with the underprivileged members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image is the tendency to confuse failure in a project with a
failure in life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image slide starts, the natural
tendency is to feed the inferiority feeling. Many people do this when they castigate
themselves because they can’t remember everything they hear and everybody they meet,
which brings us to the cause of an untrained memory. For the moment, there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words In it, represents a
great piece of literature. Second. the person who cannot remember is infinitely better off
than the one who can't forget. These two thoughts are temporarily comforting, but do not
hang your hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether vou train it or leave it untrained is
up to you. One more cause of a self-image 1s an unrealistic and unfalr comparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

Poor self — images are the products of :
(1) Group belongingness (2)y Contracted inferiority feelings

(3) Social power equations (4y Attitudes of teachers
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[Question ID = 2874][Question Description = Q46_GP_Set12_S1]
1.1

[Option ID = 11493]
2.2

[Option ID = 11494]
3.3

[Option ID = 11495]
4. 4

[Option ID = 11496]

Correct Answer :-
e 1

[Option ID = 11493]

Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged, when teachers, people in
authority or even the general public come in contact with the underprivilesed members of
the soclety in a manner that produces inferiority feeling in them. It does not take much
1Imagination to know that the stereotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image is the tendency to confuse failure in a project with a
failure in life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image slide starts, the natural
tendency is to feed the inferiority feeling. Many people do this when they castigate
themselves because they can't remember everything they hear and everybody they meet,
which brings us to the cause of an untrained memory. For the moment, there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words in it, represents a
great piece of literature. Second. the person who cannot remember is infinitely better off
than the one who can't forget. These two thoughts are temporarily comforting, but do not
hang your hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether vou train it or leave it untrained is
up to you. One more cause of a self-image i1s an unrealistic and unfalr comparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

What is the normal reaction of the people to failures?

(1) Ignore the failures
(2) Sympathising with the slide
(3) Projecting a single failure as failure in hife

(4) Social ostracisation against failures

Fefefiga s/ =a =i 9feu 31 3w AaIiE qva 1 I i

Hedn UFR & wfd=d ena-fas w1 Fmiw @ S w2 owe e, @omdw | @ m@me
FH-TAT % GigaEiad Tl % WY 36 a8 GO0 9 A F | I 2aT 1 9EE] 300 el 7 | TR
HEAT FouN W W fSewe T6 7 6 ol wleag gwon da-wmm $i s o S 7 | s srer-faes
T G FAO UF TS § SEES w4 H OF A9 J ITEEA 54 F WT 705 41 i TG0 2 | 0F aes
i T 4 vk fawr 0 sl 29T ® A1 98 26 80 947 WAl B, U 3hel] SEEerdl 1 S § e

FH % WY UEEEE i el T 7 | 98 398 B9 ° Hia-Toan 91 el & gel #E 91 gHeied S 2| U6

IR 79 e An-fars fi o (TEs) TR =t # O Whhos g sE-wEA # A 2 A a

- - - -, ~ A A ST & T - ol s T o = = o -
S o kb Bl W e R e R e A DR T e e e e SR R T e SR



B e L SR L e ey

v Tt
el

P s T B SR
= 5

any g N -y § F WU W

AR GFA 34 A 3 | TR U WY Sl U WEM gig 1 AR 31 # wd il 2 fae i ous
THAT 7 FA B9 H IHE SEA 2 A Y T8l Gl | 4 37 G afoes =9 9 g9 24 arl § i A9 35
gV H WA WA #50 | FHEE sl Tid A S wgid A R die A8 a2 | 98 Al gienad
AU 7G| 39 TH U o A AUEEG T 3 SHE YA A W e 2 | sen-fae w
T AR FAV FENE] F FEAAEE T ST go ¢ | 79 g F TFea SENEl F ag-He s
F FR o] AEera 1 | fg@rd 3 | sEeE o FiEar @ $w S92 96 E

(1)  #E%ed W SAE T2 2
(2) =Th (FES) % W9 wEEY

(3) T TS HFEAT H A9 N AAFAT F FT H WG FAT

(4)  FEAFAASAT o HEg AHIAE AETHR

[Question ID = 2875][Question Description = Q47_GP_Set12_S1]
1.1

[Option ID = 11497]
2.2

[Option ID = 11498]
3.3

[Option ID = 11499]
4. 4

[Option ID = 11500]

Correct Answer :-
o 1

[Option ID = 11497]

Read the following passage and answer question,

Poor self-images of the worst kind are created. or enlarged, when teachers, people in
authority or even the general public come in contact with the underprivilegsed members of
the soclety in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portraved would lead to a feeling of inferiority.
Another cause of a poor self-image is the tendency to confuse failure in a project with a
failure in life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image shide starts, the natural
tendency is to feed the inferiority feeling. Many people do this when they castigate
themselves because they can't remember everything they hear and everybody they meet.
which brings us to the cause of an untrained memory. For the moment. there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary. with all the words in it. represents a
great plece of literature. Second. the person who cannot remember i1s infinitely better off
than the one who can't forget. These two thoughts are temporarily comforting, but do not
hang vour hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It 1s either trained or untrained. The choice of whether you train it or leave it untrained is
up to you. One more cause of a self-image 1= an unrealistic and unfair comparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

When people start castigating themselves. they :
(1) Self — feed the inferiority feeling (2) Try to ameliorate the suffering

(3) Lose the power of reasoning (4) Make efforts to improve their images
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[Question ID = 2876][Question Description = Q48_GP_Set12_S1]
1.1

[Option ID = 11501]
2.2

[Option ID = 11502]
3.3

[Option ID = 11503]
4. 4

[Option ID = 11504]

Correct Answer :-
o 1

[Option ID = 11501]

Read the following passage and answer question,

Poor self-images of the worst kind are created, or enlarged, when teachers, people in
authority or even the general public come 1n contact with the underprivileged members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portrayed would lead to a feeling of inferiority.
Another cause of a poor self-image is the tendency to confuse failure in a project with a
failure in life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image slide starts, the natural
tendency is to feed the inferiority feeling. Many people do this when they castigate
themselves because they can't remember everything they hear and everybody they meet,
which brings us to the cause of an untrained memory. For the moment. there are two
warming thoughts which will give you a lot of comfort. First. a perfect memory does not
indicate a great mind any more than a huge dictionary, with all the words In it, represents a
great piece of literature. Second. the person who cannot remember is infinitely better off
than the one who can't forget. These two thoughts are temporarily comforting, but do not
hang yvour hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It is either trained or untrained. The choice of whether yvou train it or leave it untrained is
up to you. One more cause of a self-imasge 1s an unrealistic and unfalr comparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.



A ‘great mind indicates :

(1) Perfect memory

(2) Success in life

(3) The people he/she meets

4 Trained or untrained mind
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Correct Answer :-

e 1

[Option ID = 11505]

Read the following passage and answer question,

Poor self-images of the worst kind are created. or enlarged, when teachers., people in
authority or even the general public come in contact with the underprivilegsed members of
the society in a manner that produces inferiority feeling in them. It does not take much
imagination to know that the stereotype portraved would lead to a feeling of inferiority.
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failure in life. A child who fails a subject in school or who does not make the team, makes the
mistake of identifying a single failure with failure in life itself. This is tragically reinforced
many times by teachers and /or parents. Once the poor self-image slide starts. the natural
tendency 1z to feed the inferiority feeling. Many people do this when they castigate
themselves because they can’t remember everything they hear and everybody they meet.
which brings us to the cause of an untrained memory. For the moment. there are two
warming thoughts which will give you a lot of comfort. First, a perfect memory does not
indicate a great mind any more than a huge dictionary. with all the words in it. represents a
great plece of literature. Second. the person who cannot remember i1s infinitely better off
than the one who can't forget. These two thoughts are temporarily comforting, but do not
hang vour hat on them. Actually there is no such thing as a ‘good’ memory or a ‘bad’ memory.
It 1s either trained or untrained. The choice of whether you train it or leave it untrained is
up to you. One more cause of a self-image 1= an unrealistic and unfair comparison of
experiences. We exaggerate others’ successful experience and downgrade our own success.
Experience has nothing to do with ability.

The passage seeks to focus on the importance of :

(1) Good memory

(2 Untrained mind

(3) Factors determining image self
(4) Experience against ability

Frefefiga /a0 =i 9ieu 31 3w AaiE gva = I i

1.

Fedn UFR + ¥id=d ena-fam F Fmiw @ G w2 owe e, wod | @ m@me
TH-FATS F GE9Eiad Bee o @Y 39 Wik ° 50 § 470 # A I 2a F 9 200 el B | R
HEAT Fou B W faewe F6 7 T i wleag gwon FA-wa i s o S 7 | sAiwee sner-faem
T GO FAO TF TS § SEES w4 B OF AST 0 IEES 54 F WG 705 41 TG0 2 | 0F aew
i fereer § vk fawg o ol 29T ® 41 98 29 8 94T Ghal 2, U 3Fhel] SEEerdl 1 ST § e

T F WY TEEEE I Tl ] 2 | T8 §OEE B9 ° Aar-T9an T WS & g % 9% et 2l 2| U
IR TH A=A Aon-TaTa i T (TES) TR =l # 1 W g sE-STEAT F i 31 A A
2| SEA ° A AT 1 #4799 A 36 He w1 (50 9 g9 2 o e 9 fied F, # 9e w § wem
AR GFA 34 91 2 | TRl T Wy Wi T 95F 9ig F A7 9 # T 2 e f s
THAT 2 3 T9 H 3HE S 2 7 99 Ta Jehar | A 21w i = 9 g 3 9 2 e w3
TV § TP 69 750 | e A=l w9 A1 g wgia am 1w < A8 2 8 | 98 91 ar wiidh =@

sAuferier & 2| 3 56 ufeiée o s = 2 sEe g A W A e 2 | sren-fae
T R FE0 AIEE I FARAEE U SEMEG 9o 2 | 56 g % FEea SAE i ag-=er sard
# AR ol AEerE 1 e fa@rd 7 | seE  FEar @ Fw -2 96 2

e TRET HETT T TR S A ¢

1) =S

(2)  wmtafeE Al

(3)  HAen-fara =i glafv=a = T w0
(4 T s S

[Question ID = 2878][Question Description = Q50_GP_Set12_S1]
1

[Option ID = 11509]

2.2

[Option ID = 11510]



3.3

[Option ID = 11511]
4. 4

[Option ID = 11512]
Correct Answer :-
e 1

[Option ID = 11509]





